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Note : Four pogsible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling

two or more circles will result in zero mark in that question.

1-1 | What is the critical temperature of Yttrium Barium Copper Oxide ( YBa,Cu3.05) :
(A) 42K (B) 110K (C) 163K (D) 72K

2 | One henry (H) is defined as :
(A) 1H=WS"'A4"" B) 1H=WS4 . (C) 1H=184" (D) 1H=1S"4

3 | Choose the photon of highest energy among the following :

(A) X-rays (B) Infrared (C) Radiowaves (D) Gamma rays
4 | A particle having a charge of 2e falls through a potential difference of 3V. The energy

acquired by it will be :

(A) 5eV (B) 1.5eV (C) 6eV (D) 0.6eV
5 | SI unit of equivalent dose is :

(A) Sievert (B) Gray - (C) Rad AN\ (D) Curie
6 | If peak value of AC voltage is 100 V, then the peak to peak valg Jﬁ(,be :

(A) 200V (R) SOV © 70v., (©Y ) 1000V
7 | The direction of magnetic lihes of ferceiaroand a stra(ig }'é\‘r\'&\fif carrying conductor is found by :

(A) Ampere’s law (’Bj Coulonds'sdaw. (@};g]benz{’é law (D) Right hand rule
8 | Which of the following is the correct relati@%%n electric intensity E and

potential difference AV : (_\@

AV &) AV?

A) E=-2L B \i C) E=AV+Ar (D) E=

® E=-T- B MK (©) P B
9 | Which of the following requiresno external bias for its operation :

(A) LED i\[@) Photo diode (C) Photo-voltaic cell (D) Transistor

10 | The energy of K, Xatays is
(A) hfy,=Ey-Ex (B) hfi,=E -E¢ (C) hfy,=Ex—Ey (D) hijo =Ey-Ey

11 | The power factor of a series resonance circuit at resonance frequency is :

(A) Zero (B) _Infinite (@) 2 (D) 1

12 | In AVO meter, the part which connects the galvanometer with the relevant measuring circuit is
known as :
(A) Range switch (B) Diode " (©) Ground (D) Function selector

13 | How much time is required for the complete decay of a radioactive clement :

(A) Five half lives (B) Two halflives (C) Ten half lives (D) Infinite
14 | Choose the device which converts electrical energy into mechanical energy .

(A) Motor (B) Generator (C) Transformer (D) Inductor ]
15 | The current-voltage graph of an ohmic material is :
(A) Curve (B) Straight line (C) Parabolic (D) Circular
16 | The phase shift between the input and output of a common-emitter transistor amplifier is :
(A) 90° (B) 180° (C) 60° (D) 45°
17 | Which of the following factor is called Compton Wavelength :
h . mye he m,
B _ C) — (D) %=
= ®) =2 © =
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Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

1-1 | For which material medium, force between two charged particles is maximum :

(A) Ammonia (B) Germanium (C) Mica (D) Teflon
2 | The force between two similar unit charges separated one meter apart in air is :

(A) Zero (B) One Newton (€) 9x10°N (D) 9x10°N
3 | Kirchhoff’s 2™ rule is based on :

(A) Energy conservation (B) Mass conservation

(C) Charge conservation (D) Momentum conservation
4 | Which one has least resistance :

(A) Galvanometer (B) Ammeter (C) Voltmeter (D) Ohm-meter
5 | A voltmeter is always connected in :

(A) Parallel (B) Series (C) Perpendicular (D) Oblique
6 | If we make magnetic field stronger the value of induced current q

(A) Decreased (B) Increased ©) Va:ﬁst\;ea (D) Constant
7 | The device which consume electrical energy is called

(A) Generator (B) Motor k’*f@:],ﬁ.,oad (D) Dissipaters
8 | At high frequency the current through a cgpqqﬁéyfh C. circuit will be :

(A) Small (B) Infinite (7 m\\” (C) Zero (D) Large
9 | A.C. through inductor, the apphed \Qttage’

(A) Leads the current = ; Q(fBJ Lags the current 5

(C) Inphase <} (D) Outofphase180° |
10 | The crystalline structure of NaCl is :

(A) Trigonal (B) Cubical (C) Tetragonal (D) Hexagonal
11 | Minimum diode required for full wave rectifier are :

(A) 1 (B) 3 € 2 (D) 4
12 | Photovoltaic cell formed from :

(A) Arsenic (B) Carbon (C) Germanium (D) Silicon
13 | Unit of Plank’s constant is same as that of :

(A) Entropy (B) Angular momentum  (C) Acceleration (D) Force
14 | Stefen Boltzmann Law is given by :

(A) E=hf (B) E=me? (C) E=oT" (D) AxT =constant
15 | Radiation produced from TV picture tube is :

(A) Gamma rays (B) X-rays (C) Infrared light (D) PB-rays
16 | What is difference in isotopes :

(A) Number of electron (B) Number of proton

(C) Charge number (D) Number of neutron
17 | A proton consists of quark which are :

(A) Allup (B) One up, two down (C) Two up, onedown (D) All down
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1-1 | Wave behaviour of matter is prominent at -- level :
(A) Macroscopic (B) Mega structure (C) Microscopic (D) Any object size
2 | The points where AC crosses the time axis corresponds to phase :
n T T T 4
A) —or3— B) Oorx C) —or3— D) 0or — {
(A) 5 5 (B) (C) 3 n (D) >
3 | A galvanometer coil of resistance Rg gives full scale deflection with current Ig. What is
required shunt resistance Rs. = ---- if range of ammeter is | = 2Ig :
(A) Rg (B) 2Rg (C) Rg/2 (D) 4Rg
4 | A combination of two back to back PN junctions is --- :
(A) Operational amplifier  (B) Digital gate  (C) Transistor (D) Photo diode
5 | The --- work oh the principle of beats :
(A) DC motors (B) Metal detectors (C) Choke coils (D) AC generators
6 [1J=--eV: O\
(A) 1.6x107" (B) 6.25x10'® (©) 9.6x1¢"*7 (D) 9x10°
7 | Faraday and Maxwell unified electric and --- force : {;_‘
(A) Weak nuclear (B) Strong nuclear - ii'éiﬁ'f_.\}ravitational (D) Magnetic
8 | Which is not true for ideal step up transformer ;- .>
@A) I,<l, B) Pu=Pu N\ ©) ¥>7, @) N,=N,
9 | A rod of length £, in a stationary fran@&s}é’be]emed at speed of light. Its length measured
perpendicular to its direction of motioR s ;
‘ SO~
(A) ?"" (B Zero (€) L, (D) 2¢,
AT
10 | The slope of graph be@‘céu charge and time for capacitor charging is large initially when the
product RC is :
(A) Small (B) Large A (C) Intermediate (D) Infinite
11 | A ductile wire is stretched to double of its eriginal length, %age elongation is --- :
(A) 200% B) 50% (C) 100% (D) 400%
12 | The fractional change in resistance is minimum for --- if temperature change is same for all :
(A) Platinum (B) Nichrome (C) Copper (D) Constanton
13 | If ionization energy of hydrogen atom is F,, the energy required to remove electron from
hydrogen in staten =4 is :
(A) % (B) 4E, (©) % (D) Zero
14 | The value of voltage gain of a transistor amplifier ( common emitter) is of the order of :
(A) Thousands (B) Millions (C) Fraction (D) Hundreds
15 | Energy required to remove all nucleons from nuclide of —- is maximum :
(A) Fe® (B) U (C) Ba' (D) H?
16 | In alternating current, --- behave like resistors :
(A) Inductors (B) Capacitors (C) Transformers (D) Generators
17 | The potential of --- is least in CRO :
(A) Anode (B) Screen (C) Cathode (D) Grid
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1-1 | Work done on a charge moving in a uniform magnetic field is :
(A) Zero (B) Positive (C) Negative (D) Maximum
2 | The most common source of alternating voltage is :
(A) Motor (B) Cell (C) Generator (D) Thermocouple
3 | Compton effect is associated with :
(A) Gamma rays (B) Betarays (C) X-rays (D) Positive rays
4 | Alpha particle carries a charge of :
(A) +2e (B) -2e (C) +e (D) Zero
5 | The difference of potential energy between two points per unit charge is :
(A) Electrical potential (B) Potential difference (C) Absolute potential (D) All of these
6 | The devices which are used to convert various physical quantities into electrical voltages are called :
(A) Filters (B) Sensors (C) Rectifiers (D) Amplifiers
7 | The current flowing through each resistor of equal resmtanca‘siin Jparallel combination is :
(A) Different (B) Zero {C} Sam}f/ (D) Infinite
8 | The Boolean expression of NAND gate is : oIV
(A) X=4.B ®) X=4 ’PXC)XAB (D) X=A+B
9 | Energy released by conversion of 1 amu- efma’ss is :
L.-’/ch /
(A) 1.6x107%ey  (B) 1.6x 1Q**9Mev (C) 200 Mev (D) 931 Mev
10 | The energy stored in the 1ndyetq}[‘ﬁer unit volume is :
-32 -;: \ B Bz
A — T ”“" ©) Lo D) —
2442 < 2B 24,
11 | The space between the plales of the capacitor is filled by a dielectric of dielectric constant ‘k’.
The capacitance of the capacitor :
(A) Increased by a factor * k’ (B) Increased by a factor K
(C) Decreased by factor * k'’ (D) Remains unchanged
12 | The mean value of A.C. in one complete cycle is :
I
(A) 1 (B) Zero €y 1, (D) &
V2
13 | Unit of self inductance is :
(A) Weber (B) Henry (C) Tesla (D) Farad
14 | The number of crystal systems are :
(A) Three (B) Five (C) Fourteen (D) Seven
15 | Beam of electron is also called :
(A) X-rays (B) Alpha rays (C) Gamma rays (D) Cathode rays
16 | Light emitting diodes ( LEDs) are made from semiconductors :
(A) Silicon (B) Germanium (C) Gallium arsenide (D) Carbon
17 | In electronic transition, atom cannot emit :
(A) Infrared radiations (B) Visible radiations
(C) Gamma radiations (D) Ultraviolet radiations
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El ¥ has the unit of :
B
(A) meter (B) ms™" (C) ms™ (D) s
2 |If ¥V, is peak value of A.C. voltage then mean square value of voltage is :
Ve 2 12
A) = B) F C) =V D) ¥V
(A) 72 B) ¥, © 5o (D)
3 | A black body is both an ideal absorber and an ideal :
(A) Reflector (B) Radiator (C) Conductor (D) Insulator
4 | Energy given out per nucleon per fission of heavy element like uranium is :
(A) 200 MeV (B) 208 MeV (C) 5 MeV (D) 0.9 MeV
5 | Eleetric flux through a closed surface enclosing a charge depends on :
(A) Medium (B) Size (C) Shape ~ (D) Location of charge
6 O\
D)
Aj/f/" is symbol of : f"(:-\}/
(A) High tension battery (B) Low tensm;nh@t(‘?rj‘«'
(C) Variable voltage battery (D) Zero resmu};‘ce battery
7 | Thermo-couples produce electric energy by” L
(A) Heat (B) Chemical energ‘}”f-} (C) Sunlight (D) Mechanical energy
8 | When PN junction is conducting ﬂwn&(&remsiance is of the order of :
(A) MegaOhm (B) Kllufﬂhm (C) 1000hm (D) Few Ohms
9 | Two quark combination fom
(A) Mesons (B) \Earyona (C) Leptons (D) No Composite particle
10 | Lenz’s law is also a statement of law of conservation of :
(A) Linear momentum  (B) Angular momentum (C) Energy (D) Charge
11 | Unit of electric intensity is same as :
(A) Force (B) Potential gradient (C) Viscosily (D) Magnetic field
12 | If the frequency of A.C is 40 Hz then current passing through filament bulb get brilliance :
(A) 100 times (B) 80 times (C) 40 times (D) 50 times
13 | A metal meter rod is moving at the speed of 0.5 ms ™~ in the direction parallel toa 0.5 T
magnetic field, emf will be :
(A) 025V (B) 0.5V (C) Zero (D) 0.125V
14 | In cubical crystal, all the sides meet at :
(A) Acuteangle (B) Abtuse angle (C) _Right angle (D) 45°
15 | Work done by a magnetic force of 5 N when a q charge is displaced 2 m is :
(A) Non-zero (B) Zero (C) 10J (D) 51J
16 | The observations on objects moving very fast, approaching the speed of light, are well explained by :
(A) Quantum theory (B) Newton’s law
(C) Special theory of relativity (D) Kepler’s law
17 | Plank’s constant has the unit of :
(A) Linear momentum (B) Angular momentum (C) Torque (D) Force
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-l The quantity o3 is called :
Ar
(A) Electric potential (B) Electric energy (C) Potential energy (D) Potential gradient
2 | If the potential difference across two plates of capacitor is doubled, the energy in it will be :
(A) Two times (B) Eight times (C) Four times (D) Remains same
3 | Kirchhoff’s second rule is a way of stating conservation of :
(A) Mass (B) Charge (C) Energy (D) Momentum
4 | The brightness of spot on CRO screen is controlled by :
(A) Plates (B) Cathode (C) Anode (D) Gnd
5 | The e/m of neutron is :
(A) Lessthanelectron  (B) Zero (C) Greater than electron (D) The same as electron
6 | The energy stored in inductor is :
: I I -0 L 2
‘ A) =Ll B) —Li C) =L ~ D) =L
@ 3 ®) 3 © 5 AD 3
7 | The unit of self inductance is : ‘;}\\'. Z
(A) Weber (B) Tesla (C) Henrsh\ & Sl (D) Farad
8 | At high frequency the value of reactance of capamt&&:@fbﬁ :
(A) Small (B) Zero A ?,a:ge (D) Infinite
9 | When 10 V are applied to an A.C. circuit, tj;,g\él.ﬁ'rent flowing in it 100 mA, its impedance is :
(A) 10 Ohm (B) 100 ()l:th‘-j (C) 1000 Ohm (D) 1 Ohm
10 | The critical temperature of merg;u\ﬁ;,t
(A) 118K [By\\ié}l( (C) 3792 K (D) 72K
1T | The current gain p of L@Jﬁénsmmr is given by :
I !
@ = B) f=lz+lc (©) f=ly=lc (D) p=-F
C B
12 | The input resistance of an operational amphifier is-:
(A) Zero (B) Low (C) High (D) Equal to output resistance
13 | The value of Plank’s constant h is :
(A) 6.63x10734 s (B) 6.63x10° 0/ (© 6.63x10° % (D) 6.63x1073 J/s*
14 | Albert Einstein was awarded Noble Prize irf Physics in '
(A) 1905 (B) 1911 {C} 1918 (D) 1921
15 | Radius of first Bohr orbit of hydrogen atom’is~
_ (A) 0.053 nm (B) 0.053 mm (C) 0.053 pm (D) 0.053 m
16 | Gamma rays emitted from radioactive element have speed :
) 1x107ms™! B) 1x10%ms! (© 3x10%ms™! (D) 4x10"”ms™
17 | The dead time of G.M. counter is :
(A) 107%s (B) 107*s (C) 107 (D) 1078
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1-1 | When some dielectric is inserted between the plates of a capacitor then capacitance :
(A) Increased (B) Decreased (C) Zero (D) Infinity
2 | Coulomb per volt is called :
(A) Ampere (B) Joule (C) Henry (D) Farad
3 | Kirchhoff’s first rule is a manifestation of law of conservation of :
(A) Mass (B) Energy (C) Charge (D) Kinetic energy
4 | Work done on a charged particle moving in uniform magnetic field is :
(A) Maximum (B) Zero (C) Minimum (D) Negative
5 | Output wave form of sweep or time base generator is :
(A) Saw tooth wave (B) Digital wave (C) Sinusoidal wave (D) Square wave
6 | Energy stored in the inductor is in the form of :
(A) Electrical energy (B) Magnetic energy
(C) Kinetic energy (D) Chemical energy <€ K“J )
7 | The principle of an electric generator is based upon : J
(A) Ampere’slaw  (B) Faraday’s law lomb’s law (D) Kirchhoff’s law
8 | The device which allows only flow of A.C. m@gl} itis :
_ (A) Capacitor (B) Inductor /<\\ o~ (C) Battery (D) Thermistor
9 | S.I unit of impedance 1s : \\/
A«
(A) Henry (B) Heitz" (C) Ampere (D) Ohm
10 | Very weak magnetic field produced by brain can be detected by
(A) Compass - \X@) Metallic needle ~ (C) Squid (D) Liquid
IT | If R =10KQ and }j’\':l(]OKQ. then gain of inverting amplifier is :
(A) —11 (B) =10 (C) 10 (D) 11
12 | Automatic functioning of street light can be done by the use of :
(A) Inductor (B) Capacitor (C) Comparator (D) Thermistor
13 | When platinum wire is heated. It changes to cherry red at temperature :
i (A) 500°C (B) 900°C (C) 1100°C (D) 1300°C
14 | The rest mass energy of an electron positron pair is :
(A) 0.51 Mev (B) 1.02 Mev (C) 1.2 Mev (D) 1.00 Mev
15 | The value of Rydberg constant is :
| (A) 1.0974x107m™"  (B) 6.02x10%m™" (C) 3x10°m” (D) 1.6x10"7m™!
16 | The half life of uranium -239 is :
] (A) 1620 years (B) 3.8 days (C) 2.5 days (D) 23.5 minutes
| 17 | Binding energy per nucleon is maximum for :
|
| | (A) Helium (B) Iron (C) Radium (D) Polonium
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I_f-l The energy of photon is given by :
(A) %mvz (B) v,e (C) muc'z (D) hf
2 | The sum of negative and positive peak values is : N
(A) Averagevaluc  (B) rms value (C) Peak value (D) p-p value
3 = = E
The unitof £ isNC 'andthatof B is NA™'m ' then the unit of % is :
L 1(A) ms (B) m'!_s__J _ (C) ms (D) ms™!
4 | The common emitter current amplification factor b is given by :
! i I - . !E IB
A) £ ®B) -= () -£ D) -£
()Lg Iy '}"H ()’C
5 | Resistance in choke is :
[ (A) Large (B) Very small (C) Zero (D) Infinite
6 | Sec/Ohm is equal to :
(A) Farad (B) Coulomb (C) Joule (D) Ampere
7" | Number of neuirons in 235(./ :
@ 92 (B) 235 (C) 143 A@(}gz?
8 | Commutalors are used in : @\, <
' (A) D.C. generators (B) A.C. generators (C) AC,\ rpq( <> (D) A.C. rotator
9 h
(A) _'_Pressure (B) Length (D) Momentum
10 | If a charged body is moved against the electri 111 gain :
(A) P.E. (B) K.E {C_}_Mp(:h@l energy (D) Electrical potential energy
11 | In p-type substances, the majority ¢ 1€rs are
(A) Electrons (B) {C) Holes (D) Neutrons
- 12 | When a wire of res;stancc/\((\(l into two equal parts then resistance of each wire is :
' { (A) Double ( (C) Remain same (D) One forth
" 13 | Fnergy of the 4™ orbit in hydrogen atom is :
L (A -251eV (B) -3.50eV (C) ~136eV (D) —0.85¢V
' 14 | The gain of non-inverting amplifier is
4 i L " R
w12 @) 148 © =X @y 2
| | R, Ry R1 R,
+ 15 | X-rays are the electromagnetic radiations having the wavelength inrange :
i i
@) 107 B) 107"°m (€) 10%m (D) 10°m
" 16 | To construct a step up transformer :
' (A) N;>N, (B) N,<¥N, (C) Ny=N, (D) NN, =1
17 | The magnetic force is simply a : '
| (A) Reflecting force (B) Restoring force
| (C) Deflecting force (D) Gravitational force
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I The valuc of — is smallest for :
! m
| | (A) Proton (B) Electron (C) P-particle (D) Positron
2 | At what frequency will an inductor of 1.0 H have a reactance of 500€2 :
_ | | 1(A) SOHz (By 80Hz (C) 500 Hz (D) 1000 Hz
| 3T ' The life time of an electron in an excited state is about 10™%s . What is its uncertainty in
encrgy during this time :
(A) 6.63x107%J (B) 9.1x107% (C) 1.05x107%J (D) 7.2x107"°J |
- 4 | The binding energy per nucleon is maximum for : |
E (A) Hydrogen (B) Nitrogen (C) Uranium (D) fron
5 | The clectrostatic force between two charges is 42 N. If we place a dielectric of &, = 2.1
between the charges then the force become equal to : |
| (A) 42N (B) 84N (C) 20N (D) 2N l
6 | The Boolean expression of NAND gate is :
(A) X=AB (B) X=4 (C) X=AB (D) X=A+8B
7| The value of charge on 1.0x107 electrons is :
(A) L6x107"%¢C (B) 1.6x10*"'C (© 16x107%°C.. (D) 16x10""C
8 | Which factor does not affect the conductivity of PN-junction dio \E",n\j 1
(A) Doping (B) Temperature (C) VOIF@ (D) Pressure :
9 | By mass spectwgraph we can find the value of mass b Srmula : J
2.2 \ (... 7 Vz
(A) m=| £ iB* B) m=|Z @}Mm_ 1—’}“ B (D) m=| & B
i 2V 2V 2r
10 | Maximum emf gEﬁcrated in a generator j )
(A) g,=¢csinf (B) & _ﬂ (C) &,=NwABsing@ (D) ¢,=NwAB |
11 | It is required to suspen-:l a pro qi/\!}/a:ge q" and mass ‘m’ in an electric field the strength of |
the field must be :
) E=1% o '8 S E= L o) E=ZL
LN EN q mg - B
12 | The velocity of arrescillating charge as it moves to and fro along the wire is :
[ {A) Infinite (B) Constant ~  (C) Changing (D) Zero
13 | Henry is equal to =
(A vsa' ) vs'A (©) ¥ls'4 ) v's'a!
14 | Good conductors have conductivities of the order of : 5
LAY 10T Qmy ! (B) 107 (<) ! = 10%(Cam) ! (D) 1072 (Qm)”! |
13 Fi : = [ = sk ] E .
The unitof E is NC™ andthat of B is N47'm " then the unit of 5 s
(A) ms™? (B) ms ) m 'y (D) _ms™"
16 | The numerical value of Stefen’s constant is :
(A) 567x10°%  (B) 29x107 (C) 6.63x107* (D) 1.6x107"
17 | The numerical value of Rydberg's constant is :
(A) 1.0974x10 (B) 1.0974x107 (€) 1.0974x10" (D) 1.0974x10""
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(Academic Sessions 2015 -2017 & 2016 - 2018) |
PHYSICS 218-(INTER PART -1I) Time Allowed : 20 Minutes
Q.PAPER - 1I { Objective Type ) GROUP -1 Maximum Marks : 17
PAPER CODE = 8473
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

I-1 | If K and F, are the magnetic forces acting on c-particle and electron respectively, when
moving perpendicular to the magnetic field then :
(A) =5 B) K>k (C) F<E (DY K =4F
2 ! For non-inverting amplifier, R; = = and R, = 0 ohm, the gain of non-inverting amplifier is :
L(A) -] (B) Zero (C) +1 (D) Infinite
3 1 The half life of Radon is :
. (A) 23.5 minutes (B) 3.8 days (C) 1620 years (D) 4.5 x 107 years
4 | Lenz’s law deals with :
(A) Induced emf (B) _Induced current  (C) Power (D) Electrical energy
5 | Two oppositely charged balls A and B attract the third ball C, when placed near them turn by
turn. The third ball C must be :
(A) Positively charged (B) Negatively charged
(C) Electrically neutral (D) Positively and negatively c}gfgg‘d 4
& | The energy of the photon of wavelength 500 nm is : (o :.\/ 4
(A) 3.10eV (B) 2.49 eV {G}QJ\?@ < (D) 1.52eV
7 | mho m™! is the S} unit of : HQ“\;)
(A) Conductance (B) Conductmty 5 é C) Resistance (D) Resistivity
8 | The longest wavelength of Paschen sane@s\"
(A) 656 nm (B) 199’4 i’ (C) 1875 nm (D) 2000 nm
9 | The unit of VLC is : /*;\_j“)
(A) Second ,\{?} Ampere (C). Hertz (D) Farad
10 | At what frequency, | Frinductance offers same impedance as IuF capacitor :
(A) 50 Hz (B) 159 Hz (C) 512 Hz (D) 1590 Hz
11 | The electric potential at a mid-point in an electri¢ dipole is :
| [{A) OV (B) 0.5V € 1V (D) 15V _‘
12 | Very weak magnetic field produced by brain can be detected by :
(A) Compass (B) Metallic needle ~ (C) Squids (D) Liquids
13 | If a step-up transformer were 100% efficient, the primary and secondary windings would have
| the same :
i (A) Current (B) Power (C) Voltage (D) Direction of winding
14 | The factor A/m,C in Compton equation has the dimensions of :
(A) Pressure (B) Length (C) Momentum (D) Plank constant
15 | When a metal is heated sufficiently electrons are given off by the metal. This phenomenon is
known as :
(A) Photoelectric effect (B) Piezo electric effect
(C) Thermionic emission (D) Secondary emission
16 | The mass spectrum of naturaily occurring neon shows the most abundant isotope has atomic mass :
(A) 19 (B) 20 (C) 21 (D) 22
17 | The wavelength associated with the proton moving at a speed of 40 m/s is :
(A) 7.20 nm (B) 9.02 nm (C) 15.7 nm (D) 17.3 nm
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AYSICS 218-(INTER PART - 1I) Time Allowed : 20 Minutes
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

1-1 i Substances which break just after the elastic limit is reached is called as :
(A) Ductile substances (B) Hard substances

(C) Brittle substances (D) Soft substances

| 2 | When motor is just started, back emf is almost :
(A) Maximum ~ (B) Zero (C) Minimum (D) Infinite

3 | The photon with energy greater than 1.02 Mev can interact with matter as :
(A) Photoelectric effect (B) Compton effect

(C) Pair production (D) Annihilation of matter

The unit of electric intensity other than NC s

A v ® v © ® N

5 | The most useful tracer isotopes for the treatment of thyroid glands is :
(A) Cobalt-60 (B) Carbon-14 (©) Igdm‘e\ﬁ*l (D) Strontium-90

6 | High frequency radio wave is called as : O
(A) Fluctuate wave  (B) Carrier wave (Qi“ﬁﬁ\ter wave (D) Mechanical wave

7 | The S.1. unit of magnetic induction is : ,,-/;,
N\ 1\

(A) Weber (B) Tesla ,,\\;fC) Gauss (D) Newton
8 | The electric field created by pnsitiv@h@”&hmge is

(A) Radially inward  (B) ag_ég@ a (C) Circular (D) Radially outward
9 | The Boolean expression ot‘%N{) gate is

(A) X=4.B B X=4 €) X=4B (D) X=A+B
10 | In electron transition from power to higher orbit atom can not emit :

(A) v-rays (B) Ultraviolet rays (C) Visible light (D) Infrared
11 | The impedance Z can be expressed as ;

(A) Z=£ﬂ'—”ﬂ"l (B) Z=——;r"””' (CY Z=J+V D) Z=I-V

rins rms

12 | The value of e/m is smallest for :

(A) Proton (B) Electron (C) B-particle (D) Positron
13 | Nuclear fission chain reaction is controlled by using :

(A) Steel rods (B) Graphite rods (C) Cadmiumrods (D) Platinum rods
14 | Henry is S.I. unit of :

{A) Current (B) Resistance (C) Flux (D) Self induction
15 | Resistance tolerance for gold colour is :

(A) 50% (B) 30% (©) 20% (D) 5%

16 | Automatic functioning of street light can be done by the use of :

(A) Inductor (B) Capacitor (C) Comparator (D) Thermistor

17 | The dimension of Planck’s constant is same as that of :

(A) Energy (B) Power (C) Acceleration (D) Angular momentum
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Objective Intermediate Part Second * *
Paper Code PHYSICS (Objective) GROUP -1 ;
8475 Time: 20 Minutes Marks: 17 £% -,
You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the
Q.No.1 relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.
*Y%% Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.
S# Questions A B C D
; : 2 e v - Parallel
| At high fr_eq?enmes, a R-L-C series circuit R-C ciruit R-L circuit Capacn‘we A
behaves like: circuit -
circuit
At what frequency will an inductor of 1H have
2 |, reactance of 500 7 500Hz 250Hz 350Hz 80Hz
The back motor effect in generators is in
!_ 3 agreement with the law of conservation of: Charge Momentum Energy Mass
. N ,
4 | The turns ratio N—s of a step-up transformer is: | Greater than 1 | Less than 1 Equalto 1 | Equal to zero
L p
5 | Lorentz force is given by: F=q@xB) [F=qE+q@xB)| F=qE F=1(LxB)
6 | The SI unit of permeability of free space is: Wb Wbm™ WbA'm™ | It has no unit
o Ty 1\ Positive and
7 | The charge carriers in electrolytes are: Free electrons Holes (| “Protons I
<~? A ) negative ions
If time constant of R-C circuit is small, the " ()Y, .
8 capacitor is charged or discharged: Rapidly ‘ ilﬁ\é()l Intermediately|At constant rate
e . : o R )
9 When an insulating medmzn is placed between i -\\;\ﬁe‘c’reases Becomes T R
two charges, the Coulomb’s force: L (CAY double
.
10 | The half life of radon gas is: 1620) years | 23.5 minutes 3.8days | 4.5x10° years
(Y .
i1 Which basic force of nature has only :epulsu/ve\,\ }\’s"gék nuclear | Strong nuclear | Gravitational Electric force
| nature? y \“\Qj e OTee force force
— _— N\ S5
12 | The radius of 3 orbit in hydrogen@x 0.477 nm 0.053 nm 0.212 nm 0.159 nm
\/\‘k
Py \ly
. N : Poor )
13 | A black body is: Ideal radiator | Ideal reflector sbseiber Poor radiator
14 | Position was discovered by: De Broglie Heisenberg Compton Anderson
| The current flowing into the base of a transistor
15 | is 25 microA while its collector current is SmA. 2000 200 500 1000
The current gain of transistor will be:
| 16 | The Boolean expression of OR gate is: X=A+B X=A'B X = A+B X=A-B
17 | An example of donor impurity is: Silicon Germanium | Phosphorous | Aluminum
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Q.No.1 relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the cireles.
© 7 Catting orfilling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.
§4] Questions A B C D
A particle carrying a charge of 2e falls through a
I | potential difference of 10V. The energy 2eV S5eV 10eV 20eV
__|.acquired by it is: 2
4 | In a capacitor energy is stored in: Electric field | Magnetic field Gra\;ﬁgonal Nuclear field
| 3 | The charge carriers in electrolyte are; Free electrons POSII!VE .a“d Free el&::ctrons i
negative ions and ions holes
) 0utput_w'a.vciorm of sweep or time base Saw tootl wave Sinusoidal Square wave | Digital wave
- generator 1s: wave
| An alpha particle of charge 2e enters a uniform
’ a B T 3 -1
5 | magnetic ﬁclc-:i of 0.1T with yeloctty lUms . 16X 107N | 3.2 % 10N | 6.4 x 109N Zero
perpendicularly, the magnetic force acting on it '
| will be:
Lenz’s law is in accordance with the law of ]
6 : ! Charge Mass | Momentum Energy
conservation of: ) LN
) : - Anti & l?-l'erpendicu]ar At an angle
7 | Eddy currents are setup in a direction: Parallel to flux /Lt@j to flux 45° to the flux
. <AL=
8 | The unit of impedance is: Ohm Qé\\/:b/ Farad Volt (Ohm)™!
L2y
5 rl
The power factor in a series resonance circuit at <N Q -
¢ 2 | -1 Infinity
resonance is: AN
10 The units of modulus of elasticity are the same X US ¥isas Strain —— Work done
as those of: (\f\ %
In case of non-inverting operational a A
il Rl i _.13.2_ ’ i 2 @ Vou= 2 Niin Vin=2 Vou You=3 Vin Vin=3 Vou
N— 2 2 «1‘;\)
g | SR B+ A-Bis the mathematical mutation NOR gate NAND gate XOR gate | XNOR gate
for: :
The slope of the maximum K.E of Planck’s Mistkitiiitii Work
| 13 | photoelectrons versus light frequency graph Momentum ot wavelength fination
i | represents: i
14 The minimum energy required for pair 051 MeV 151 MeV 1.02 MeV 0.051 MeV
production is:
5 The :'a.:dius of second Bohr radius for hydrogen 0,053 am 0212 nm 0.106 nm 0.848 nm
atom is:
16 | The dead time for G.M counter is: 1073 10~s 107 107
07 Unit of radioactivity is curie (Ci). Which is 374 x 10° 3.7 x 10 3.64 x 10° 4.5 % 10°
equal to disintegration per second. -

1212-X11124-15000
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You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.

Q-No.1 Ct;l_ttin_g or filling two or more circles will result in[ zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.coa p M, '2'
S.# Questions A B C D
If an iron core coil of reactance 6284} is placed -

1 | in series with 450Q resistance in AC circuit. 51.5° 60° 30° 45°
The phase difference will be:

Wave 3 Pauli Electronic

2 | Energy band theory based on: mechanical Bol;oaégimc exclusion configuration

model principle of electrons
In transistor with common emitter

3 | configuration, output voltage is at phase 90° 100° 120° 180°
difference of: i
An electronic computer is vast arrangementof | o . (O, : :

’ electronic switches which are made from: BesrRors [nc[i%c %Qig\j Capaciiors Transseons

h . ~O\ O .
5 m—gc has the unit of: Time Qr\‘\;\)%tance Velocity . | Acceleration
z P 4 1 e f,]\,-
6 An electron moving with speed of 1x10°ms 7 i"lﬁll'géf 7%10%m 7%10°m 7%10-%m
has wavelength: R\
. z z -0 P
Velocity of electron of hydrogen in different . \C : Increase in | Independent of
v orbits is: AAY NAme Qusnized higher orbits | orbit number
AN Quark.
8 | It is believed that quark cannot exj&; Y a4 Free state Bound state antiquark ;l'ohrebeigtiz}rk
' N\ Z g Va8 combination ey
\\\':) o~ : & 5% “'_\- 3 .
9 | Ultra violet radiation cause: ‘iﬂ tf i kye?lthy Sy crop Fasthar Formation:af
g 4w growth damage grow ozone
q -\-“: f w .:( ..J_J‘. », _.-._*-‘4
10 | Joule per Coulomb is equal to: Seitc’h}rriﬁ_-"} zF Newton Watt Volt
L% £
S !

11 | Gravitational force cannot be: deﬁisdsem d[:::zggf. A Shielded 2:;2?:%:}&::
In carbon resistance, colour bands are red. red,

12 | red and silver. The numerical value of 22000£10% 220045% | 22000Q+20% | 220+10%
resistance will be:

The torque on a current carrying rectangular .
. ; : . 1A
3 coil placed outside the magnetic field will be: Mexemum HiAB e e
—_ . . . Decreasing | Using thick Increasing
Sensitivity of moving coil galvanometer can be | Decreasing : :

14 | . 4 by: s number of suspension magnetic
mcresapd. 0y turns wire field
When motor is just started, the current passing _

15 through the coil will be: Large Small Zero Average

16 Zr‘:’c‘:j‘l‘;g‘_“gs of electromagret in DC mator Solenoids | Fieldcoils | Inductors Loops |
When 10V is aﬁplied to an AC circuit with :

. A : 0 Q 10000 0.10
i 17 current of 10mA theri impedance will be: 1aon 10 i

309-X11132021-45000
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Objective Intermediate Part Second - 103 *
Paper Code PHYSICS (Objective) GROUP -1II
8474 Time: 20 Minutes Marks: 17 \ﬁ( F‘Doﬂm

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Q.No.1 relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.

-INO-1' Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.coa

S.# Questions A B C D
The energy released by fusion of two deuterons into
__1 a helium nucleus is about: 24 MeV 200 MeV 1.02 MeV 7.2 MeV
2 211-:: aﬁ;:::le of energy absorbed in a body per kg is il * v Sy S
Paschan series is obtained when all the transitions of ; ; : & :
3 electron terminate on: 2nd orbit 3rd orbit 4th orbit Sth orbit
4 gll:ltmum wire becomes yellow at room temperature 900°C 1300°C 1600°C 500°C,
5 If object moves with the speed of light, its mass Zero Sm (Ir:\ Same Infinity
become: _ (‘%_ )
6 Tl?e thickness of a base in a transistor is of the order 103%m A 2m 10 m 10%m
of: alie
AN > > )
7 | X =A"B is the mathematical notation for: (N/J%Wé ~ NOR gate OR gate AND gate
— T .,. =‘ =5,
8 | The critical temperature for mercurygis: ‘E__\ﬁf;,WEK 42K 1.18K 3.7K
A e & A
- ﬂ 5\‘:}. - I i
9 | Resistance of choke is: AN Zero Very small Large Infinite
| SN
10 | In three phase, voltage across ?4‘3‘3\‘@ ines is: 220V 230V 400V 430V
11 | In DC generator, split rings acts as: Capacitor | Commutator Inductor Resistor
12 | Energy stored in the inductor is: g Ll Llip Lyop
nergy stored in the i : 3 5 > Tkl
A galvanometer becomes more sensitive when the
13 £ C ilb Large Small Constant Zero
e:
actor BAN wi
Force on a moving charge in a uniform magnetic
14 | field will be maximum, when the angle between V 0° 30° 60° 90°
and B is:
15 | Kirchhoff's first rule is based on conservation of: Energy Voltage Charge Mass
16 | Coulomb per volt is called: Farad Ampere Joule Ohm
17 If the distance between two point charges is halved. Half Double e liinas T
the electric force becomes: |

310-X11132021-19000
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SH# __Questions A B C D ]
1 Electrical field intensity between two oppositely 2 K o f o
charged parallel plates is: , € & 2, r3 _
When a dielectric material is inserted between the -
2 | plates of a capacitor, the potential difference noL Increases Decreases increases then
between the plates: change decreases
s o P el
3 Ku‘chhoﬁ_’s first rule is based on law o | Energy Charge
4 | Magnetic field strength is measured in terms of: Wbm Wb NmA™! Js
5 ;;I:a?othies:output waveform of time base A ripple Square wave | Sinusoidal | Saw tooth
numberof | Areaof | Densityof |\ o "o -
6 | Mutual inductance of two coils does not depend on: | turns of the cm;?%}pn material of e ial
coils ) ' coils A
3 3 T O
- If the magnetic field intensity is doubled then Four time <\‘)Double Half Eight times
magnetic energy density becomes: ALN\Y
XN,
8 | Direct current cannot flow through: ( /;lg)efg or Capacitor Inductor Ammeter
< \J ? \_\:I
\.\ b | [
9 | In RLC series circuit, the condition for resong;n(isj‘/ Xe>X, X=X, Xe <XL X, =2
O
© Young’s Relative
10 | Dimensions of strain are same as tlniti\o\f&;) Stress Pressure o odu%us ittivity
L AN Of the order In mega
11 | Forward resistance of the gwwlsz Very large of kQ A few Ohms Ohms
In a transistor greater concentration of impurity is y Both emitter
12 aitided n: greater £ Emitter Collector anid wnllscaos Base
13 | Value of Plank’s constant is: 6.34x107Js | 6.43x1073*Js | 6.64x107"Js |6.63x1073Js
- 147| A gamma radiation has an energy of the order of: 1 MeV 1 keV 100 eV leV
o : : -1 -1 =1 Js
15 | Rydberg constant is given in units of: kg m S
: " . A beta
16 | In@ nuclear transmutation, radium changes into AQhEoa{ A proton An alle:a e
radon, the emitted particle is: parti particle
17 The average number of neutr?ns produced per 25 3 2 4
fission of uranium-235 atom is:

335-X11121-37000
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four choices for each ebjective type question as A, B, C and D. The choice which you think is corret, fill the
Q.No.l Miw: 'i:n}rui l; that quﬁn -m on compaterized answer sheet. Use marker or pen to fill tie circles.

Cutting or filling two or more will resalt in zero marks in that question. Attempt as many questions » given in
objective type question paper and leave other circles blank.
S# Questions A B C D
A particle of mass m and charge q is released from Ed qE

1 | rest in a uniform electric field E. The K.E. attained oy qE%d qEd i
by the particle after moving a distance ‘d’ is:

e _— Electrical .

2 | The energy stored in the capacitor is: K.E. P.E. KE. Electncal P.E.
On increasing the length of wire specific resistance Remains | Firstincrease

3 - t—— Increases Decreases unchfn i |then decrease
Asrelectromismovingimacircle of radius 't in a . .

4 | uniform magnetic field, suddenly the field is 7 & 2r ir
reduced to B/2, the radius of circle now becomes: o
Force on current carrying conductor per unit length ; ;

5 is given by: ILB sin 6 ILBF“ IB [Bsin B___
The current flowing through a coil due to induced | Shape of the | Resistance | Area of the .

6 | emfinit depends upon: coil . | ' ofthe coil coil Magnetic flux

T\ : ; TR

7 | The induced emf primarily produced at the cost of: ?ﬁm y Chemsical Electrical | Mechanical

: energy” <-|  energy energy energy
At low frequency the current through a capacitor of b () v : |

8 | A C. circuit will be: A\ k;large Small Zero Infinite
.T.h w " [ of/ 5“

9 Gf_e inductance and capacitance behave a \ﬁlg\cﬁg@ Voliage Frequency Time Crutsaiik

- : \, -~

Impurity atoms are doped in semi- qﬂﬁcﬁo ductor to Free . _
10 mcmas? ._ :Qf;/ electrons | :hHules Conductivity | Resistivity

The specially designed semi-conductor diode used | .. . + ] _ . . . [Light emitting
) D indicator lamp in electrohic circuit are: | The s*mtch " Solar cells | Photodiodes diode

Light _
12 | Which diode is used for detection of light? emitting | Photo diode | T 0t YOlaic |y yece
diode cell
. : hf he
13 | Rest mass of photon is: Zero 5 Infinity | - | 5 )
_IhIﬁhnldWelengﬂrfonmmmvﬁg work

14 | function ¢, is A,. What is threshold wavelength A 4% 22 A
for metal having work function 2 $, is? . *

15 | Production of X-rays can . : Compton | Photoelectric | Annihilation Pair

rays be regarded as inverse of: effoct effect oF ot - tuction

16 | The energy released per unit mass is greater in: Fission Fusion Chemical Nuclear

= e . reaction reaction reaction reaction
Energy needed to create an electron-hole pair in a
al solid state detector is: o 2-3eV 3-4ev 4-5eV 5-6¢eV

336-X11121-17000
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Y%L Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank,
S.# Questions A B C D
: . ) Thickness of | Charges on Voltage Geometry of
| | The capacitance of capacitor depends upon: plates the pltes applied thie capacitor
3 Abllholnlclcctrons are added to pith ball. Its —16x10-19C | =1 6x10-2C | =1 6x10-14C | —1.6x10-7C
charge 1s:
3 The current through a resistance of'I{_)Oﬂ when 92000A 224 224 0.45A
connected across a source of 220V is:
A current carrying conductor is placed in uniform F=ILB F=ILB
4 | magnetic field parallel to it. The magnetic force F=ILB no cosO F is zero
experienced by the conductor is: .Q‘/@;\ »
> i i AN & _
5 Cathodc. ray oscilloscope works by deflecting a Electrons y Protons Neutrons Positrons
beam of: A\ AT
The only difference between the construction of My/\- ; Magnetic
> DC and AC generator is: ) ?(ﬁéﬁes coll Commutatar field
L :
g i s . ol Becomes Remains
7 | [f'the coil is wound on iron core, the flux EE}%E;}T Decreases iy Increases cipatant
8 During eac.h cycle, alternating vo!tagrs e%ﬁ%g to O Twice Thrice Four tiines
peak value: A~
The device which allows only. (he tontinuous flow . .
L) -
) SEAC Birongh it is: ~Q Capacitor [nductor Battery Thermistor
AN : e
. ; , : . Valence Forbidden | Conduction
10 | A vacant or partially filled band is called: Fermi band band band band
11 A dewce_ which '_S used for the conversion of AC Oscillator Detector Amplifier Rectifier
into DC 1s called:
12 | Which one is not fundamental logic gate? OR gate AND gate NOT gate | NAND gate
13 | The unit of Plank’s constant is: Joule Joule-S Watt Candela
I .
_ _ . Infrared Ultra violet
7 =
14 | Which one is low energy photon? Visible light light light X-rays
15 | Radiation produced from TV picture tube is: Gamma rays X-rays Infrared Ulm.l vigler
light light
6 The bmvburdment of nitrogen with a-particle will Neutron Proton Electron Positron
B prod_ycc
17 | The quantity called the absorbed dose “D” is: E/m E/C m/C C/IE

334-X11118-34000




Roll No. of Candidate :
PHYSICS Intermediate Part-II , Class 12 (1%A 424-1V) Paper I Group -1

Time: 20 Minutes OBJECTIVE ..... Code:8477 /22 | )7 1= Marks: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1.  Which of the following circuit is called electrical oscillator?

(A) R.L circuit (B) R.C circuit (C) R.L.C circuit (D) L.C circuit
2. A charged particle enters in a strong magnetic field, then its K.E
(A) remains constant (B) increases
(C) decreases (D) first increases then decreases
3. Turn ratio of a transformer is 50. If 220 volt A.C is applied to its primary coil, voltage in the secondary
coil will be :
(A) 440 V (B) 44V (C) 220 V (D) 11000 V
4. The physical quantity related to photon, that does not change in Compton scattering is
(A) energy (B) speed (C) frequency (D) wavelength
5. In photoelectric effect, the number of photoelectrons depends upon
(A) wavelength of light (B) intensity of light
(C) threshold frequency (D) work functio 5[&\)
—_ W= A
6.  Glass is also known as ; (9)
(A) solid (B) liquid (C)ssolijﬁd@\]@ (D) gas
D 3
7. The unit of electric intensity other than NC™'is f.?\ 2%
(A) V/A (B) V/m | \r@)?/c D) NV
8. The unit of Eis NC™' and that of B is N@F&@%&hen the unit of E/Bis
2 ) » | ~1
(A) ms (B) ms \{‘\O\/ (C) m™'s (D) ms
9.  The binding energy per nucleon imum for
(A) Helium 5\\ "é (C) Polonium (D) Radium
10.  For holography, we usé-albeay of _
(A) r—rays (B) x —rays (C) B —rays (D) Laser
11.  The colour of light emitied by LED depends on
(A) its forward biasipg (B) the reverse biasing
(C) amount of forward current (D) type of semi-conductor material used
12.  When current flowing through an inductor is doubled, the energy stored in it becomes
(A) half (B) four times (C) one fourth (D) double
13.  The half-life of Radon gas is
(A) 3.8 days (B) 38 days (C) 3.8 months (D) 38 months

14.  An ideal voltmeter would have
(A) zero resistance  (B) high resistance (C) infinite resistance (D) low resistance

15. A parallel plate capacitor with oil having €, =2has a capacitance C. If the oil is removed between the
plates, then capacitance of capacitor becomes

(A) C (B) ¢/2 (©) ¢/V2 (D) 2C
16. The voltage gain of an amplifier having 1, =1Q,B=100and R, =20Qis

(A) 2000 (B) 1000 (C) 500 (D) 5
(7. When we accelerate the charge, which type of waves are produced?

(A) Mechanical waves (B) Travelling waves

(C) Stationary waves (D) Electromagnetic waves
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Using spectroscopy the helium was identified in the

(A) Earth (B) Sun (C) Stars (D) all of these
The induced emf is primarily produced at the cost of
(A) internal energy (B) mechanical energy (C) chemical energy (D) electrical energy

The reactance of an inductor at S0Hz is 10Q. Its reactance at 100Hz is
(A) 25Q B) 5Q ©) 102 (D) 20 Q

Threshold wavelength for metal having work function 40 is A, . What is the threshold wavelength for
metal having work function 240 is

(A) 2 ' (B) 4A (C) A2 (D) /4
The emf induced in 1mH inductor in which current changes from 5A to 3A in ls is
(A) 2x107%V (B) 8x107%V (C) 2V (D) 8V

Two metallic spheres of radius 1cm and 2cm get equal quantity of c{/@ hich has greater surface

charge density?

(A) 1% sphere (B) 2™ sphere (9] boj\ Mal surface (D) none of these
The voltage gain of an amplifier having r, =1Q, [3 = 20 Q is

(A) 2000 (B) 1000 N \@ 00 D) 5

If the length of conductor is doubled and 1 Lg’;ﬁ!{:@?{ectmna% area is halved, its conductance will be
(A) increased four times o (%" (B) become one fourth

(C) become onc-half S (D) remained un-changed

The capacity of condenser M Farad and its potential is 100 Volt. The cnergy released on

discharging it fully w|ll \

(A) 0.021 (C) 0.025J (D) 0.05J
Circulation of blood can be studied by

(A) Sodium - 24 (B) Strontium —90 (C) Carbon - 14 (D) Iodine — 131
If a wire is stretched to double of its length then strain will be

(A) zero B) 1 () 12 (D) double
Unit of decay constant A is

(A) ms (B) m™ (C) m (D) s~

The term transistor stands for

(A) transfer of resistance (B) transfer of voltage

(C) transfer of current (D) all of these

Force on a current carrying conductor per unit length is given by

(A) 1L Sin0 (B) ILB (C) 1B (D) IB Sin0

For a current carrying solenoid the term “n” has unit as

(A) no unit (B) m (C) m™! (D) m™

When applied potential difference is increased; capacitance of parallel plate capacitor

(A) increases (B) decreases (C) remains same (D) reduces to zero

In‘photoelectric effect the intensity of light made twice than initial value. The maximum K.E of

- photoelectron becomes

(A) same (B) double (C) half (D) four times
316-(II1)-1*A 424-30000
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1.  The orbital electron has F/ >~/—2=

C (A) fixed ene@) (B) 3.4 €V energy

(C) any amount of energy (D) infinite energy
2. The circuit used for smoothing the pulsating voltage is called
(A) resistor (C) rectifier (D) grid

3. Inreaction 1:H+?:H — :I—Ie+ X+17.6MeV, X will be

(A) proton (B) electron (D) « particle
4, Inre jased PN junction, its resistance is

(A) several mega ohms (B) zero (C) infinite (D) few ohms
5.  The radiations which are not deflected by magnetic field are

(A) P-rays (B) u-rays (D) cathode rays
6.  Additi impurity of 3™ group in the semiconductor causes the production of

(A) holes . (B) protons (C) electrons (D) positron

7. The materialization of energy takes place in the process of
(A) Photoelectric effect (B) Compton’s effect (C) Pair productiop (D) Pair

annihilation
8  Work done by magnetic force is
(A) FdCosb (B) positive (C) negative \/
9.  The factor 5 has the unit of \(:f
m,C

(A) second square r@\( D) Is™
L_ﬂia/gneuc field will

10. By increasing the length of current carrying solen{ﬁdffh

(A) increase \5\/ (C) not change (D) be uniform
11. igh frequency, the current in pure indud{nhé&

A) low (B) hthX \ (C) moderate (D) zero

12.  Semiconductor diode is an exan c of
(A) super conductor ¢ device (C) non ohmic device ) (D) ferromagnetic
If the frequency of A. Qﬁi\dé&fed then capacitive reactance will be
Q}\) (B) two times (C) four times (D) one fourth

Av
14. —has the unit of
m 5 1ne um

(A) electric flux (B) magnetic flux (C) magnetic field (D) electric field

15.  The windings of electromagnetic | rator are called
(A) primary coils C (B) field coils ) (C) secondary coils (D) inductors

16.  Gaussian surface should be
(A) spherical (B) cubical (C) circular

17.  The expression for energy stored in an inductor is

(A) %Lzl ®) 11 (D) LI
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1. 1.  Most penetrating among the followings are

(A) Alpha rays (B) Betarays (C) Neutrons (D) Gamma rays
2. Switching time of a photo diode is in
(A) 1075 B) 107*s (C) 107%s @) 1055
3. Most stable isotope among the followings is
(A) Fe’® (B) U (C) Pu?®® (D) Pb*?
4. The diode in a half wave rectifier conducts for __ during a complete AC cycle.
(A) 90° (B) 180° (C) 360° (D) 45°
5. For lyman series, longest wavelength is emitted when n=___
(A) 1 (B) 2 ©€) » (D) 5
6. Highest occupied band in solidsis ____ band.
(A) conduction (B) forbidden (C) core (D) valence
7.  Wavelength of radiations emitted from a thermal object depends only on
(A) temperature (B) colour of surface (C) size of surface (D) nature of surface
8.  When plane of coil is placed parallel to magnetic field, torque onitis
(A) zero (B) maximum (C) intermediate ’gkﬁ}_\} (D) infinite
9.  No inertial frame of reference is preferred over another inertial f“‘r“@‘ » &
(A) false (B) trL{e X\ C/\_/
(C) true for static frames (D};}&?}} dynamic frames
10. When a solenoid containing steady current is gently pressed; magnetic field inside it,
(A) increases (B) decreases Qj’zglﬂanishes (D) remains same
11. _ charges produce electromagnetic wa‘.;gsﬁ %
(A) static (B) steadily maving~ (C) heavy (D) oscillating
12.  Velocity of free electrons in metals at room-temperature is of the order of
(A) 10° m/s (B). }"&;‘)s : (€) 10° m/s (D) 107 m/s
13. Ina capacitor, voltage ___.(qurrentby .
(A) lags, ™ "Wﬁd& /2 (C) lags, /2 (D) leads, =
14.  Inside a charged metaltic'box, electric field intensity is
(A) zero (B) strong (C) weak (D) variable
15. ___ uses a transformer with many secondary coils
(A) TV receiver (B) door bell (C) Transistor radio '(D) AC generator
16. When applied potential difference is increased; capacitance of parallel plate capacitor
(A) increases (B) decreases (C) remains same (D) reduces to zero
17.  Average output power of an AC generator for resistive loadis  if peak current and voltage are
I, &V, respectively
A) V.1, (B) 251”— (C) zero (D) 2ViL,
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Which of the following electromagnetic waves have the shortest wavelength?

(A) radio waves (B) infrared waves (C) ultraviolet waves (D) micro waves
Automatic function of street lights can be done by
(A) inductor (B)* comparator (C) transistor (D) capacitor
A two input NAND gate with input ‘A’ and ‘B’ has output zero if
(A) Biszero (B) A iszero
(C) both A and B inputs are zero (D) both inputs A and B are one
The shortest wavelength in Lyman series is
(A) 3R, ®) 4Ry © — ® R,
H
The potential difference between two plates is 100 volts and separation uf the: plates 5 cm
then potential gradlcnt is ; A O, -:,
(A) 2000 NC (B) 20NC (C) 5000 N'eh{ (D) 2NC'
If the temperature of the black body is doubled then energy raqﬁtﬁﬂ per second per unit area becomes.
(A) 32 times (B) 16 times &N ‘64 times (D) 4 times
In radiation therapy, the thyroid cancer tn:ahm:m l&qdﬂl'fd w1th ;
(A) sodium —24 (B) iodine—131 - [C) carbon — 14 (D) - cobalt — 60

A direct current of 5 ampere is given to pumqifrf/@cnl then the voltage developed across
secondary coil is Q {\ <

AN

(A) 5 volts (B) zemw (C) 10 volts (D) 2 volts

A battery moves a charge uﬁdﬁﬂ\ﬁ in a circuit in time 50 seconds. The current will be

(A) 2A o {(B) BA (C)y 20A (D) 200A

Which of the ful]awmg is ot needed in fast nuclear reactor?

(A) moderator (B) control rods (C) turbine (D) heat exchanger
Which of the following is not present in A.C generator?

(A) split rings (B) ecarbon brushes (C) magnetic field (D) armature
Which of the following is not accurate measuring device?

(A) digital multimeter  (B) cathode rays oscilloscope (C) voltmeter (D) potentiometer

A one farad capacitor is charged to 100 V and then discharge through 1 KA resistance
the total energy dissipated through resistor is .
(A) 5KJ (B) 10KJ (C) 2KJ (D) 100KJ

The length contraction happens only

(A) perpendicular to direction of motion (B) along the direction of motioni

(C) opposite to direction of motion (D) along any direction

In RLC series circuit, at resonance frequency, the impedance is

(A) zero (B) minimum (C) maximum (D) infinite

Which one of the following is not semiconductor?

(A) germanium (B) silicon (C) aluminium (D gallium arsenide

The magnetic force on an electron moving with speed 10° m/sec perpendicular to the
magnetic field of strength 1 web m™ is .
(A) 1.6x107"N B) 1.6x10"N (C) zero (D) 1.6x10%N
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1. 1. To construct a step down transformer ;
(A) Ns>Np (B) Ns=Np (C) Ns<Np (D) Ns=10 Np
2. The inputs of NAND gate are ‘1’ and ‘0’ . Its output will be
(A) 0 (B) 2 (C) 0.5 o) 1
3. SIunit of current amplification factor ‘B’ is
(A) ampere (B) AS™ (C) no unit (D) cst
4, Lyman series lies in the
(A) ultraviolet region  (B) visible region (C) infrared region (D) far-infrared region
5.  Practical application of electrostatic force is in . AN\
(A) laser (B) x-ray production  (C) inkjet printg__st}g; )(D) A.C generator
6.  Which of the following has the greatest frequency? " (S
(A) radio wave (B) gamma-ray (©) @;Arg\&‘\“‘ \ (D) red light
7.  Two down and one up quark make : ’ FrEAY i
(A) neutron (B) photon ({ :}ﬁc/)sitron (D) proton
8.  The unit of magnetic flux density is r\\éf f}\»\’ |
(A) Wbm™> B) Nm'A'q Y (O) tesla (D) all of these
9.  Magnitude of drift velocity is of thfﬁ g "
(A) 107°mS™" (B) 10°mS~! (C) 10°mS™’ (M) 107°mS"!
10. . The half life of radon gas is <1~ _.
(A) 4.5x10° years (B) 30.1 years (C) 3.8 days (D) 23.5 minutes
1. The device which allows only the continuous flow of A.C through it is
(A) capacitor (B) inductor (C) thermistor (D) all of these
12. Acellisusedin
(A) ohmmeter (B) ammeter (C) galvanometer (D) voltmeter
13. A charge of four coulombs is in the electric field intensity of 4 N/C . The force on the charge is
(A) 8N (B) 16N (C) IN (D) zero
14, Which one is low energy photon?
(A) x-ray (B) infrared light (C) ultraviolet light (D) visible light
15.  The peak value of A.C source is 20 A, then its rms value will be
(A) 10A (B) 141A (C) 20A (D) 282A
16.  If a body regains completely its altered shape and size , it is said to be
(A) plastic (B) brittle (C) elastic (D) all of these
17. The magnetic field of solenoid is quite similar to that of .
(A) straight conductor (B) single wireloop  (C) a bar magnet *(D) all of these
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)

12.

13.

14.

15.

16.

¥

Due to polarization, electric field E in a capacitor:

(A) increases (B) decreases

(C) first increases then decreases (D) remains same

If time constant in RC circuit is small, then capacitor is charged or discharged:

(A) slowly (B) rapidly (C) at constant rate (D) intermittently
Kirchhoff's second rule is based on:

(A) law of conservation of energy (B) law of conscrvation of mass

{C) law of conservation of charge (D) law of conservation of momentum

S.1 unit of magnetic permeability is:
(A) Wb A'm' (B) Wbm (C) Wbma™ (D) Wb Am™

When ohmmeter gives full scale deflection, it indicates,

(A) zeroresistance  (B) infinite resistance  (C) small resistance (D) very high resistance

Lenz’s law deals with the:
(A) magnitude of induced current (B) direction of induced emf
(C) direction of induced current (D) magnitude of induced emf

When current flowing through an inductor is doubled, then energy stored in it becomes:

(A} half (B) four times (C) one fourth (D) g@

In a capacitive circuit of A.C quantity, when q =0, the slope of q — Xg is:
fﬁ) gative

(A) minimum (B) maximum (C) zero
When A.C passes through an inductor, voltage leads the ¢ San angle:
(A) 0° (B) 45° O {C) 90° % ) (D) 180°

In extrinsic semi-conductors, doping is of the ord G
e

(A) | atomto 10" (B) 1 atomto 10° ©) o 10" (D) 1 atomto 10°

X=AB+AB D) X=A.B+B.A

The potential barrier for silicon a sfemperature is
(A) 0.7 volt (B) 0.5 volt (€) 0.3 volt (D) 0.9 volt

The unit of work functi@\ :
(A) volt (B) Toule (C) watt (D) farad

(A X=A.B+B.A (B) X=AB+B.

. The Boolean equation for exclusive NOR 5@ ven by:

An electron in [{-atom is excited from ground state to n = 4 , how many spectral lines are

possible in this case?

(A) 3 (B) 4 (€)=5 (D) 6

Metastable state is than normal excited state.
(A) 107 times larger (B) 10® times smaller  (C) 107 times smaller (D) 10° times larger

A pair of quark and antiquark make a:

(A) meson (B) hadron () lepton (D) baryon
‘The force which is responsible for the breaking up of the radioactive elements is:
(A) strong nuclear force (B) gravitational force
(C) electromagnetic force (D) weak nuclear force
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II I.

10.

1.

13.

14.

16.

1Z;

Selenium is a

A) conductor B) insulator C) photoconductor
The electron volt (V) is the unit of
A) electric current B) electric energy C) clectric potential

The drift velocity of electrons is of the order of
A) 107 M/ B) 107 M/, 10° 7/,

If a charge is at rest in a magnetic field then the force on charge is
A) q(V x B) B) q VB sin6 C)qVB

The SI unit of magnetic induction is
A) weber B) henry C) tesla

Emf is induced due to change in
A) electric flux B) magnetic flux C) electric potential

Mutual induction has a practical role in the performance of the
A) motor B) generator C) choke

In RLC series circuit, the current at resonance frequency is

D) semi-conductor
D) electric flux

D) 10° ™/,

D) zero

D) guass

D) electric current

D) transformer

O\
A) minimum B) maximum C) zero @Q CD% infinite

At high frequency, the value of reactance of capacitor wi&T&

A) large B) small C) éf’?{{;
% by

Which one of the following is a polymeric soli

A) glass B) nylon ._ pper
In P-type substances, thc minority chat pareiers are
A) holes B) protons clectrons

The output resistance of an opefaiiGnab amplificr is

A) high C) zero
Wave nature of ligh § in

A) pair producti B) compton effeet C) photoeleetric effect
The unit of Plank’s constant is

A) Volt B) IS CyJs’!

Balmer series lies in the region of electromagnetic spectrum
A) infra-red B) visible Cyultraviolet

The S.T unit of radiation dose is
A) roentgen B) curie C) grey

The binding energy per nuclcon is maximum [or
A) uranium B) platinum C) hydrogen

D) infinite

D) zinc

D) neutrons

D) equal 1o input resistance

D) interference

D)eV

D) far infrared

D) rem

D) ron
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QUESTIONS

A B C D
t | Half life of uranium-239 is: 24.5 min 25.5 min 23.5 min 26.5 min
2| The building blocks of protons and neutrons Positron Quarks Electron Neutron
are called:
3 | If the medium between the charges is not Increase Decrease Remains Infinite
free space, then electrostatic force will: constant
4 - i AV Decreasing Increasing Increasing Magnitude
Negative sign in equation E = ™ shows: potent:ﬁl- % potential strength
5 | Reciprocal of resistivity is called: i, Conductivity | Resistance
6 | A charged particle enters in a strong - ecreases Remains
magnetic field its K.E: same
7 | When a charged particle is projected Ellipse
perpendicular to a uniform magnetic field,
its path is: .
8 | If the angular frequency of A.C generator Four tini""?;fl_m : One fourth
is doubled, the time period will be: - &%C
9 | Split ring are used in: &Pransformer | A.C generator | A.C motor
10| Root mean square value of voltage is: v, 2V,
V2
I'1 | The phase of A.C at positive peak from: 3x 7
s 5
12 | Which is pentavalent impur@; Boron Indium Antimony
13 | Which component of the traﬂ’é’ﬁ;or hals Emitter Collector Resistor
concentration of impurity? “gﬂ?“"*“ E
14 | Bolean expression for AND%&‘@}T{ X=A-B X=A-B X=A+E
15 | Compton shift for wave| #ngt}j 0° 45° 270°
r i e
for scattering angle 6 =
16 | At higher energtes more then 1.02 MeVe. b Compton Photoelectric Fission Pair_
the dominant progess is effect effect process production
17 | Electron nomdﬁi%,’_-}_', 1073 1035 10%s 10%s
for about: %
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Q.No.1
(n f;—i is equal to:

{A) Coulomb (B) Farad (C) Joule (D) Ampere
(2) S.I unit of electric flux is:

(A) NC™' (B) Nm*C™ (C) NmC™' (D) NmC*
(3) A thermistor is a heat sensitive:

(A) Resistor (B) Capacitor (C) Inductor (D) Diode
(4) S.1 unit of magnetic flux density is:

(A) Whm (B) Whm™ (C) Whm™ (DY Whm™

(5)  1f 300 turns of wire are wound on 30cm length, then number of turns per unit length is:
(A) 10 (B) 20 (C) 100 (D) 1000
(6) The principle of A.C generator is:

(A) Mutual induction (B) Self induction  (C) Eleclromagneﬁr} .jl11duction (D) All of these
(7) Energy density in inductor is given by: ¢ (]}f 2/

@il ® 25 (C,;éﬁf o 12

2 pg 2 u 2 Ho

(8) The device which allows only the flow of D.C ist | H’

(A) Capacitor (B) Resistor _ J‘{»\ > (C) Inductor (D) Generator
(9) In R.L.C series circuit resonance oceurs, \zhan

@) X %, @B _&E Az ) By Xo (D) X, = X,
(10)  The Curie temperature fqn%lr\tﬂ‘f)xls)

(A)923 K By 1023 K (C) 823K (D) 723 K

(11)  For non-inverting amplifier, if Ry =eoohm, R, =0o0hm then gain of amplifier is:
(A) 2 (B) 0 (@) 1 (D) Infinite

(12)  The current gain " 2" of a transistor is given by:

! I ! I
A) £ By —£ Cy=& ZE
()‘,E ()fc ()fc {D)fa
(13)  The rest mass of X —ray photon is:
(A) 1.6 x 107" kg B)9.1x10%kg  (C)1.67x10 kg (D) Zero
(14)  When platinum wire is heated, it becomes white at temperature:
(A) 900°C (B) 1100°C (C) 1300°C (D) 1600°C
(15)  The value of Rydberg constant is:
(A) 1.0974 x 107 m™ (B) 1.0974 x 1077 m™ (C) 1.0974 x 10" m™" (D) 1.0974 x 107" ' m™!

(16) When y -rays are emitted, the nuclear mass of an element:

(A) Increases by 2 units (B) Increases by 1 unit (C) Decreases by 4 units (D) Does not change
(17)  The particles equal in mass or greater than proton are:

(A) Baryons (B) Hadrons (C) Fermions (D) Mesons
1 9{0&0{1’-‘(}-2021 (A)-25000 (MULTAN)
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Number:

PHYSICS PAPER-II GROUP-II M m—‘E—z_f TIME ALLOWED: 20 Minutes
OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) The SI unit of Impedance is:

(A) Henry (B) Hertz (C) Ohm (D) Volt
(2) Which one of the following is the example of crystalline solid?

(A) Plastic (B) Glass (C) Rubber (D) Zirconia
3) Which component of the transistor has greater concentration of impurity?

(A) Base (B) Emitter (C) Collector (D) Resistor
(4) In full wave rectification, the numbers of diodes required is:

(A} 4 (B) 3 (C) 1 (D) 5
(3) Plank’s constant '/' has the same unit as that of®

(A) Angular momentum (B) Linear velocity  (C) Torque ” (D) Power
(6) The factor _;n_,r_:: has the dimension of: . \\33.

(A) Mass (B) Time (C) Lengt " (D) Power
(7 The radius of 10" orbit of hydrogen atom in nm 152:3;;\?3 .k&'

(A) 0.53 (B) 51.3 Nfe) 5.3 (D) 53
(8) The binding energy per nucleon is maxi;;;gﬁf , 2

(A) Iron (B) Holifpt\S (C) Radium (D) Copper
(9)  Which of the following is hi@tigé“n%;an ng?

(A) a - particles @}l\Ci{BJ ¥ —rays (C) X —rays (D) f —particles
(10)  The force on electron in an electric field of magnitude 10 NC T is:

(A)19x 107N (B)16x107 BN (C)1.6x103N D) 1.8x107" N
(11)  The total electric flux through any closed surface depends upon:

(A) Charge (B) Medium (C) Geometry of closed surface (D) Both A and B
(12)  Heat generated by a 50 watt bulb in one hour is:

(A) 36000 J (B) 48000 J (C) 1800 J (D) 180000 J
(13)  One Tesla(T) is equal to:

(A) 1NA™ (B) 1 Nm™ (C) INA™'m (D) INA™'m™

(14) A 5 meter wire carrying a current of 24 is at right angle to uniform magnetic field of 0.5 Tesla.
The force on the wire is:

(A) 5N (B) 4N (C) 2N (D) 1.5N
(15) Lenz’s law is in accordance with the law of conservation of’

(A) Mass (B) Momentum (C) Energy (D) Charge
(16) The emf induced in 1 mH inductor in which current changes from 54 to 34 in lms is:

(A) 2% 107V (B) 2V (C) 6x 1075V (D) 8V
(17)  Current leads the applied voltage in pure circuit,

(A) Resistive (B) Capacitive (C) Inductive (D) Reactive
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| INTE DIA TR U2™C S
| Nember: 4 47 1,_ RMEDIATE PART-II ( LASS)

PHYSICS PAPER-1I (NEW SCHEME) GROUP-I
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill thut bubble in front of that question number. Use murker or pen to fill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that guestion. Attempl as many
questions as given in objective type question paper and leave others blank. No credit will be awarded in
case HUBBLES are not filled. Do not solve questions on this sheet of ORJECTIVE PAPER.
Q.No.l
(1) The study of electric charges at rest under the action of electric forces is known as:

(A) Electromagnetism (B) Electrostatics  (C) Magnetic Induction {D) Electric field

(2) A particle carrying a charge of 2e falls through a potential difference of 3V .
The energy acquired by it is:

(A) 9.6x 1078y ) 9.6x107"% (€ 1.6x107"% (D) 9.6x107'7J
(3) Kirchholfs 2™ rule is u monifestation of law of conservation af:

{A) Energy {3) Churge (C) Mass (D) Momentum
{4) Formula for magnetic field due to solenoid is given by:

(A) pg 1 (B) ppnl (C) pp ST (D) pg nt
{5) The value of permeability of free space i, " is: (A) 4 x 107 Wh Al

(B) 4 x 107 Wb A 'm™! (C) 47 x 107 Wo am™" (D) 4z 107 Wb Am™
(6) The Lenz's Law is also a statement ol

(A) Law of Canservation of Momentum (B) Law of Conservation u[,(\'.?hargc

(C) Law of Conservation of Energy (D) Faraday Law of Elcp@agnctic Induction

. , TN )

(7)  Electric gurrent produces magnelic ficld was discovered by: v <

(A) Farnday (B) Maxwell (C) Oersted A (i:;if (D) Lenz
(8)  The impedance ol R = L series circuit is: X 'E{?% \

(A) 2= R? + X} (B) 2 = &Y + XE-C fﬁ@}b,ﬁmi X; (D) Z=R

A

(9} The capacitance required Lo construct a rusunaml:?ﬁhﬁitﬁf frequency 1000kHz with

an inductor of Smli is: ‘;.J'(';\,I-.ﬁ"

(A) 5.09pF (B) 5.0? ﬁ {/\\:«’ (C) 5.09mF (D) S0.9 pF

(10)  Substances which undergo pinslic.ttﬁgli:nmtion until they break are called:  (A) Brittle Substances
(B) Non-magnetic Substuncf:snfgj Mugnetic Substances (D) Ductile Substances

(11  The size of base of tmnsiﬂi@* ot the arder of:

(M) 107 m ST @) 107 €10 m (D) 107" m
(12) A two inputs NAND gate with inputs # and § has an output '(' i
(A) Ais O (B) B is © (C)Both 4 and B are O (D) Both A and B are |
(13) Compton wavelength is.
h i
(A) —= (B) == (© — (D) =<
m,c m, fm,c m,A

(14)  The enérgy required for pair production is:
(A) 0.51 MeV (B) 1,02 MeV (C) 2.04 MeV (D) 3.06 MeV

(15)  The relation for Balmer Series is wrilten as:

. i | i | I 1 1 1 1 | |
g S o " A L - e 7 o2 e B LR 8
E }1 RH["’EJ nt } [E}'l- R”{EE n* ] [C}*’- R”[dl n* ) (D}’l RH[.SE n? }

(16) | fem 18 equal to:

(A) U185y (B) 0.018v (C) 108y (D) 100 8v
(17)  Subatomic purticles are divided inta:
(A) Six groups (B) Five groups (C) Four groups (D} Three groups

19(0bj)(TX)-2019(A)-24000 (MULTAN)
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INTERMEDIAT T-11 (12" CLA
" Number: 4‘4 72 REAR ( SS)

PHYSICS PAPER-1II (NEW SCHEME)  GROUP-II

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correet, fill that bubble in front of that question number. Use marker or pen to {ill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that question. Attempt us many
questions as given in objective type question paper and leave others blank. No credit will be uwarded in

case BUBBLES ure not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.l

(1) Theelectric potentia! at mid point in un electric dipole is;

(AYOS VvV (B)y oV (C) 1V (D) 15V

(2)  Negative of potential gradient is equal to:
(A) Magnetic intensity (B) Electric Nux - (C) Electric intensity (D) Magnetic flux

(1) Drift velocity of electrons is of the order ot

(A) 103 kms ™" (B) 1073 s (©) 103 ms™! (D) 103 ms™!
(4) The SI unit of magnetic induction is:
{A) Weber (B) Gauss (C) Tesla (D) N
(5) A cross (x) represents the direction of magnetic field:
(A) Out ol page (B) Tungent to page (C) Paralicl to page (D) In to the page

(6) The only difference between the construction of A.C and D.C generator is:
(A) Carbon Brushes (B) Commutator (C) Coil (D) Magnetic field
(7} Anthree phase A.C supply, the coils are inclined at an angle ol @
A)- 07 ) 90 C) 130° Q 7 120¢
(A) (B) (C) @\ (3=}
{8)  The Slunitof vLC is:

S\
(A) Second (B) Ampere f(@ﬁ (D) Farad

(9Y  Inextrinsic semiconductors, doping is of the order of:

(A iltatom o 104 (B) 1 atom 1o 10* .@ (C)latomio 10° (D)1 atom to 10°
(10}  The operation of complementation is performed®y:

(A) AND Gale (B) OR G OV (C) XOR Gate (D) NOT Gate
(L1}  Inop-amp, the input rcsistnncrii ;f rder of;

(A) Several Mega Ohms @cvcral Kilo Ohms (C) Few Ohms (1) Hundred Ohms
(12)  The factor L has the dimensions uf:

myc

{A) Time (B) Mass (C) Length (D) Energy
(13)  The value of Stefen's constant "o is given by (A) 567 x 107 °Wm ™2 K2

(B) 5.67 x 10~4 W2k~ (C) 5,67 x i0%Wm? k2 (D) 5.67 % 1074w 2m? k2
(14)  The typicnl nuclei huve diamerer less than:

(A) 107" (8) 107" m (€107 m (D) 1078 m
{15y The particles which do not experience strong nuclear force are called:

(A) Hadrons (B) Baryons (C) Leptons (D) Mesons
(16) ludine - 131 is used for the treatment of:

(A) Thyroid glands () Bones (C) Lungs (D) Eyes

(17). The term %‘;— has the same units as;

{(AYTime (B) Current (C) Electromotive force (D) Magnetic flux

20(0bj)(UX)-2019(A)-10000 (MULTAN)



Paper Code 2018 (A) Roll No.
> INTERMEDIATE PART-II (12" CLASS
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. 7 ~ - -~
PHYSICS PAPER-II (NEW SCHEME)  GROUP-I M= Gr-12.~ (3
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number. Use marker or pen to fill the bubbles
Cutting or filling two or more bubbles will resnlt in zero mark in that question. Attempt as many
questions as given in objective type question paper and leave others blank. No credit will be awarded i
case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1
(1 The phase at the positive peak is:-

(A) Zero B) () 27 (D) %
(2)  Inthree phase A.C. supply, if first coil has phase 0°, then the other two coils will have phases:-

(A) 0° and 120° (B) 120°and 240°  (C) 240° and 360° (D) 0° and 360°
(3) In ferromagnetic substances, domain contains atoms nearly equal to:-

(A) 10* to 10" (B) 10" to 10" (C) 10* t0 10" (D) 10" to 10
(4) ___ isthe building block of every complex electronic circuit.

(A) Semiconductor diode (B) Resistor  (C) Capacitor (D) Amplifier
(5)  Photodiode is used for the detection of:- \

(A) Light (B) Thermal radiation (C) Radio waves \fc; (D) Sound waves
(6)  The rest mass of Photon is:- Q) C';: -

(A) Infinite (B) Small (C) Zﬁa\\@\‘. (D) 1.67 x 107 kg
(7)  Application of wave nature of particle is:- mfx_;/])

(A) Photodiode (7B Simple microscope

(C) Compound microscope %_/\C‘lf] o (D) Electron microscope
(8) X —rays are similar in mmﬁ"

(A) y —rays w—i rays (C) a =rays (D) Cathode rays
(9)  Hydrogen bomb is ﬁaample ofi-

(A) Nuclear fission (B) Nuclear fusion  (C) Chain reaction (D) Chemical reaction
(10)  Various types of cancer are treated by:-

(A) Carbon - 14 (B) Nickel - 63 (C) Cobalt - 60 (D) Strontium - 90
(11) In photocopier, the drum is coated with a layer of:-

(A) Copper (B) Silver (C) Selenium (D) Gold

(12) If time constant in RC series circuit is small, then capacitor is charged:-
(A) Slowly (B) Rapidly (C) At constant rate (D) Intermittently
(13)  The current flowing through each resistor of equal resistance in parallel combination is:-
(A)Same (B) Different (C) Zero (D) Infinite
(14)  Two parallel wires carrying currents in the same direction:-
(A) Have no effect  (B) Repel each other (C) Have no field around them (D) Attract each other
(15)  Cathode ray oscilloscope works by deflecting beamof ___ .

(A) Protons (B) Electrons (C) Neutrons (D) Positrons
(16)  The mutual inductance of the coils depends upon:-

(A) Density of coil  (B) Material of coil  (C) Geometry of coil (D) Stiffness of coil
(17) A 50 mH coil carries a current of 2.0 A. Then energy stored in its magnetic field is:-

(A) 0.1] (By1o1J (C)1001] (D) 1000

RN R U WA e S L L LU L
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iim:btr' 4 4‘72 INTERMEDIATE PART-II (12" CLASS)

PAYSICS PAPER-II (NEW SCHEME)  GROUP-II ' M) AGr=/2(8
“IME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number. Use marker or pen to fill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as many
questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1)  The value of 5‘r for air is:-

(A) 1.6 (B) 1.06 (C) 1.006 (D) 1.0006
(2) - Incase of photocopier, a special dry, black powdex called toner is given a:-

(A)Positive charge  (B) Negative charge (C) Neutral (D) First positive then negative
(3) The potential difference between the head and tail of an electric eel can be up to:-

(A) 500V (B) 600V (C) 700V (D) 800V
(4)  The current flowing towards the reader can be represented by a symbol;-

(A) Dot (B) Dash (C) Cross (D) Line

(5) The vector sum of the electric force and magnetic force is known as: =
(A) Maximum force (B) Lorentz force  (C) Dcﬂectmg force @»Newton s force

(6)  The expression for energy density of solenoid is gwen asi- kf)\’
wZ ® 22 O LN o wa,
H, H,
(7) A simple device that prevents the direction ofit cu.!‘tgnd’\rim changing is called:-
(A) Commutator (B) Rotor e chjk‘)’ Armalure (D) Detector
(8)  The unit of impedance is:- )c\x
(A) Volt (B) Qh@\i“ (C) Farad (D) Watt
(9) At resonance, the behawmlrdf R -L-C serjes circuit is:-
(A) Resistive Tﬂ} Capacitive (C) Inductive (D) Modulative
(10) Glass is also known as:-
(A) Solid (B) Liquid (C) Solid liquid (D) Gas
(11)  The open loop gain of Op — Amp is of the order of:-
(A) 10 (B) 10° (C) 10* (D) 10°
(12)  The common emitter current amplification factor f is given by:-
I I Iy Iy
mf ® 7 ©7, ® 7"

(13) The speed of earth around its orbit is:-
(A) 10km/s B) 20km/s 1y 25km/ s (D) 30km/s

(14)  The unit of Plank’s constant "A" is:-
) JC ® J/C ©JS ) J/S
(15) In Helium — Neon Laser, the discharge tube is filled with:-
(A) 85 % of He (B) 80 % of He (C) 90 % of He (D) 95 % of He
(16)  The half-life of radon gas is:-
(A) 3.8 hours (B) 3.8 minutes (C) 3.8 days (D) 3.8 years
(17) The background radiation to which we are exposed, on the average is:~
(AY 1mSy per vear (B) 2mSv peryear (C) 3mSv ver year (D) 4mSv per year



Physics [ (C) L.K.No. 1463 ' Paper Code No. 8475
Paper I ( Objective Type) Inter ( I** - A - Exam - 2024 )
Time : 20 Minutes inter (Part-11) ( Group Ist )
Marks : 17 Session (2020 - 22) to (2022 - 24
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Note : Four choices A, B, C,D to each question are given. Which choice is correct fill that circle in
front of that Question No. on the Objective Bubble Sheet, Use Marker or Pen to fill the circles. Cutting
or filling two or more circles will result in Zero Mark in that Question.

Q.No.1
(1)

A wire of resistance 9 Ohm s cut into three equal parts and these are connected in parallel.
The Equivalent Resistance is :
(A) 10hm (B) 30hm (C)9Ohm (D)27 Ohm

(2)

By Introducing a Dielectric between the plates of a Charged Capacitor , energy stored will be :
(A) Increased (B) Decreased (C) Remain Constant (D) Nothing Can Be Said

(3)

Force between two point charges 10 uC and 40 pC is 9000 N. Then distance between them is :
(A) 2em (B) 20em (C) 20m (D) 400 m

(4)

In case of Torque on a Current carrying coil, “a “ is angle between : L '\
(A) Band A  (B) Pole faces and Plane of Coil (C) B and Plane of Coil {bl_lﬂ-oue of these

(5)

A Transformer consists of 500 turns in Primary and 200 turns in Secundarﬁ Wﬁen a battery of
emf 9V is connected at the Primary , The Voltage obtained at Secqndh@]

(A) 3.6V (B) 22.4V (C) 9V (D) Zero Voit (\g( S )

(6)

A steady current of 1 A in a coil of 1000 turns generates,a ﬂlf)q o) 10~ Wh to pass through the
| loop of the coil. The energy stored in the Inductor)_f.

(A) 57 (B) 0.05J (C) 0.5J iE'Jfﬂ}\./

(7)

The restoring couple in moving coil Galva mﬁefér isdueto:
(A) Current in the coil (B) Magnetic rh& (C) Materlal of Coil (D) Twist In Wire

(8)

A parallel resonance circuit has Tq}én\ﬁce frequency ' f’ . If Capacitance of this circuit is
increased four times , then. {éibn.ance frequency becomes :

(A) 2f (B) 4f  (C}\R/4 (D) f/2

(9)

The phase difference between input voltage and output voltage of the Transistor Amplifier is :
a

(A) 0° (B) s0° () 180° (D) 120°

(10)

In Hysteresis Loop, lagging of magnetism behind magnetizing current is called :
(A) Saturation (B) Retentivity (C) Hysteresis (D} Coercivity

(11)

Power factor is 1 for :
(A) Pure Inductor (B) Pure Capacitor (C) Pure Resistor (D) Both Capacitor and Inductor

(12)

A Transistor has a base current of 1mA and emitter current 100 mA . The current gain of the
transistoris: (A) 1 (B) 99 (C) 100 (D) 101

(13)

In laser , the excited atom returns to its ground state from its meta stable state is about :
(A) 10"s (B) 105 (c) 10%s (D) 107°s

(14)

Which of the following detectors can count fast and operate at low voltage :
(A) Geiger Counter (B) Wilson Cloud Chamber
(C) Solid State Detector (D) Scintillation Counter

(15)

The momentum of a Photon of frequency ‘f'is:
(A) he/f (B) c/hf (C) f/hc (D) hf/c

(16)

In a Nuclear Reactor , Cadmium rods are used to :
(A) Speed Up Electrons (B} Slow Down Neutrons
(C) Absorb Neutrons (D) Produce Neutrons

(17)

The de-Broglie wavelength of a particle of mass ‘ m’ moving with Kinetic energy ‘E’ is :

(A) Jh/2mE (B) h/vZmE (C)h/2mE (D) Vh/2mE
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Physics | (A) L.K.No.1464 Paper Code No. 8472

Paper I ( Objective Type) | Inter (1" - A - Exam - 2024 )

Time , : 20 Minutes Iinter ( Part - 11) Group 2™
Marks : 17 - Session (2020 - 22) to (2022 -24)
LY

Note : Four choices A,B,C,D to each question are given. Which choice is correct fill that circle in
front of that Questlnn No on the Objective Bubble Sheet. Use Marker or Pen to fill the circles. Cutting
or filling two or more circles will result in Zero Mark in that Question.

Q.No.1
(1)

The Sl unit of Electric Flux is :
(&) Nm>C (8) Nm2C (C) Nm>C > (D) NmC

(2)

The Force between two point charges in the presence of air is 80 N. When a dielectric
“ Germanium” of dielectric constant 16 is placed between them , the force reduces to :
(A) 2N (B) 5N (C) 10N (D) 32N

(3)

The Potential Difference between the head and tail of an Electric EELcan be up to:
(A)200v (B) 500V (C) 600V (D) 1000V

(4)

The relation between Current ‘I’ and angle of deflection ‘8’ in a moving coil Galvanometer is :

(A) Tx® 'EBIIuc% (€) I SinB (D) 1c¢ Cos @

o %,
AN 0

(5)

Torque on a Current Carrying coil placed in a uniform magnetic field is mipﬁuﬁwﬁéh angle
between plane of coil and magnetic field is : ,(/‘“ o
(] o o o A ~\

(A) O (B) 30 (C) 45 (D) 90 /) Ml

(6)

When the motor is just started , the back emf is : \“
(A) Maximum (B) Minimum (C) Almost Zero ﬂ} ﬂu@lftb Current

(7)

The Inductor Stores energy in : ﬁ \v
(A) Electric Field (B) Magnetic Field (C) Gm‘\ma;'io/;I Field (D) Nuclear Field

(8)

The Slope of @ — £ Curve at any Instaqtof\ttﬁiéwhen A.C passes through a capacitor represents :
(A) Current (B) Voltage (C) lnglidéjce (D) Capacitance

(9)

The Impedance of a parallal rqunim:e circuit at resonance is :
(A) Resistive (B) Capaﬂti'u& (C) Inductive (D) Zero

(10)

Which of the following is a\Erittle substance :
(A) Lead (B) Copper (C) Glass (D) Wrought Iron

(11)

A Photodiode can turn its current ON and OFF in :
{(A) Milli Seconds (B) Micro Seconds (C) Nano Seconds (D) Mega Seconds

(12)

The size of base in a transistor is of the order of :
A) 10 m ®10 °m (0 10 ot (D) 100

(13)

in Photoelectric Effect, the Photoelectric Current can be increased by :
(A) Increasing the Frequency of Light (B) Decreasing the Frequency ofiLight
(C) Increasing the Intensity of Light (D) Decreasing the Intensity of Light

{14)

When a platinum wire is heated , it becomes white at about :
(A) 900°c  (8)1200°C_ (€) 1300°C (D) 1600°C

(15)

Ko X = rays are produced due to transition of electron from :
(A) KtoLShell (B) LtoK Shell (C) M to K Shell (D) M to L Shell

(16)

The range of weak nuclear force is of the order of : ”
A 10°m 10 ©10 7 m (010 "m

(17)

In Karachi Nuclear Power Plant (KANUP) , the moderator used s :
(A) Graphite (B) Carbon (C)Heavy Water (D) Boron Rod




Physics (B) L.K.No. 1069 Paper Code No. 8473 |

Paper |l ( Objective Type ) Ist - A - Exam 2023 Group Ist
Time : 20 Minutes inter { Part-11 )
Marks : 17 Session (2019 - 21) to (2021 - 23)

Note : Four possible choices A, B, C,D to each question are given. Which choice is correct fill that
gircle In front of that Question No. Use Marker or Pen to fill the circles. Cutting or filling two or more
circles will result in Zero Mark In that Question.

~
dSwp-|2 ~|—23
Q.No.1 | Half Life of Uranium—239 is U ]
(1) (A) 26 « 5 Minutes (B) 23 . 5 Minutes (C) 24 . 5 Minutes (D) 25 .5 Minutes
(2) |The Number of Neutrons in 235 U is : (A) 92 (B) 238 (C) 146 (D) 330
(3) For Paschen Series, the value of “n’ starts from : (A) 2 (B) 8 (C) & (D) 4
(4) 1 Kg Mass will be equivalent to energy
8 1 12 19
(A) 9x10 J (B) BIIGEJ (C) 9x10 J (D) 9x10 J
(5) Mathematical Treatment for Electromagnetic Waves was given by :
(A} Faraday (B) anweiﬂi_-;_{tl_ Hertz (D) Coulomb
(6) |In forward biasing a p-n junction Ideal, offers : {“.\
(A) High Resistance (B) Infinite Resistance __[Csl_-x,@u{-;i'ﬁisistance (D) Medium Resistance
(7) | Which One is not a Donor Impurity here : _,,?:‘:T\'_"P 2
J(CnY
(A) ﬁnﬂnmmr (B) Phosphorus (C) Aluminium (D) Arsenic
(8) | Which One is not Crystalline Sullq_;\ \f,-’ (A) Zinc (B) Copper (C) Nylon (D) Zirconia
(9) | The graph between time and A.C..Voltage is known as
A\ Y
I__ﬁ\.j_‘{jhﬁl’hrahola (B) Tangent Curve (C) Sine Curve (D) Straight Line
(10) |The Peak Value of AC. Source is 20A, then its rms value will be
) (A) 20A (B) 10A (C) 14.1 A (D) 28.2A
(11) | Inductance is measured in : (A) Ohm (B) Volts (C) Henry (D) Weber
(12) | The Mutual Inductance of Coils depends on :
(A) Stiffness (B) Density (C) Nature of Material (D) Geometry
(13) | The relation between Tesla and smaller unit Gauss of Magnetic Induction is given by :
3 6 2 4
(A) 1T=10 G (B) 1T=10 6 (C) 1T=10 G (D) 1T=10 G
(14) | The most suitable material for making magnet is
(A) Soft Iron (B) Copper (C) Gold (D) Silver
(15) | One Coulomb per second is equal to |
(A) One Volt (B) One Ampere (C) One Watt (D) One Ohm
(16) | if the distance between two point charges is halved, the Electric Intensity becomes
(A) Half (B) % Times (C) 4 Times (D) Double
(17) | Relative Permitivity for air is : (A) 1.06 (B) 1.006 (C) 1.0006 (D) 1.6
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A.C Through Resistor, Voltage and Current have the phase : 'I

0.No.1
(1) (A) Out of Phase (B) Perpendicular (C) In Phase (D) Antiparallel
(2) A pair of Quark and Anti Quark makes : (A) Baryons (B) Meson (C) Photon (D) Proton
(3) Nuclear Fission Chain Reaction is controlled by :
' (A) Steel Rod (B) Graphite Rod (C) Cadmium Rod (D) Platinum Rod |
(4) | Balmer Series lies in the
{A) Uitraviolet Region (B) Visible Region (C) Far Infrared Region (D) Infrared Region
(5) | The Unit of Work Function is : (A) watt (B) et (C) Farad (D) Photocell
(6) Which One is Low Energy Photon : A N
(A) X-Ray (B) infrared Light (C) uisyg!@:lr;bﬁt (D) Uitraviolet Light
(7) | The Output Voltage of a Rectifier is jr a
(A) Perfectly Direg \E}}%ﬁunth (C) Pulsating (D) Alternating
(8) The Potential Barrier in Diode stops moverng_gtfbf; E
{A}__;%;hjm} Holes (C) Photon (D) Both A and B
(9) | Which of the following does not aml‘};;fﬂc Deformation
. M \" (A) Copper (B) Wrought Iron (C) Head (D) Glass
(10) | The device which only allows the A.C. Is :
AC «‘;: Q (A) Capacitor (B) Inductor (C) Generator (D) Transformer |
(11) | The current ﬂnwln; "ﬂl'|rnugh the coll due to induced emf depends upon
(A) Magnetic Flux (B) Area of Coll (C) Shape of Coil (D) Resistance of Coil
(12) | If we want to make Magnetic Fleld stronger the value of induced current is : ]
{(A) Decreased (B} Vanish (C) Increased (D) Constant
(13) | An Ammeter Is always connected in : (A) Parallel (B) Perpendicular (C) Series (D) Oblique
(14) | Current Passing through the coll of Galvanometer is
(4) Eﬁﬂ (8) ﬁ:EB () %9 () %B
(15) | The substance having negative temperature co - efficient Is
(A) Carbon (B) Gold (C) Iron (D} Tungsten
(16) | Electric Intensity due to the oppositely charged parallel plate is
1 o o
(A) Zero (B) E: (€) E-‘:f: (D) g
(17) | The Negative of Potential Gradient is

(A) Electric Fleld Intensity (B) Electromotive Force (C) Electrostatic Force (D) Potential Difference
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Q.No.1 | The heat produced by the passage of current through a resistor is
(1) (&) Rt (8) IRt (€ 'R (D) IRt
(2) |A particle having a charge of 2e falls through a potential difference of 3.0 Volts.

The change inits K.E. is equal to : (A) 6.0eV (B) 5.0eV (C) 4.0eV (D) 8.0 eV

(3)

Photocopier and Inkjet Printers are the applications of :
(A) Electricity (B) Magnetism (C) Electrostatics (D) Electromagnetism

(4) A Voltmeter is always connected in
{A) Series (B) Parallel (C) Place of Battery (D) All these
(5) A device which converts Electrical Energy into Mechanical Energy is -
(A) Transformer (B) D.C. Motor (C) A.C. Generator (D) D.C. Generator
(6) If Magnetic Fleld is doubled, then the Magnetic Energy density becomes
(A) Two Times (B) Three Times (C) Half Time (D) Four Times
{(7) | in Cathode Ray Oscilloscope, grid controls : \;* "
{A) Tan‘tpera_j;qrgi‘_—ﬁf'l Filament (B) Charge of Electrons
() Nm&:af Electrons (D) Energy of Electrons
(8) | Root Mean Square Value of Aﬂemﬂlm:-!{dﬂéﬁé “with Vg = 100V, Is equal to :
%7 (A) 0.7V (B) 7V (C) 700V (D) 70V
(9) | In case of Silicon, the value of\ Potential Barrier is
2 (A) 0.6V (B) 0.7V (C) 0.1V (D) 0.3V
(10) | Example of a Ductile Material Is :  (A) Glass (B) Wood (C) Lead (D) Diamond
(11) | In RLC Series Circuit , the condition for resonance Iis
(A) XL = Xc (B) XL > Xc (€) XL < Xc (D) XL = Xc +R
(12) | in Full Wave Rectification, number of Diodes required are :
(A) 3 () 5 (g 1 (D) 4
(13) | Photons emitted in the inner Shell Transition are :
(A) Continuous X-rays (B) Gamma Rays (C) Characteristic X -rays (D) Energetic X —rays
M E E
(14) | Absorbed Dose is defined as : (A) MxE (B) T (C) o (D) =
(15) | 0.1 Kg mass will be equivalent to the energy
8 19 15 19
(A) 5 x 10 Joules (B) 6 x 10 Joules(C) 9 x 10  Joules (D) 9 x 10  Joules
(16) | Slow Neutrons can cause Fission in :
(A) Uranium - 235 (B) Uranium - 238 (C) Plutonium-239 (D) Thorium - 234
(17) | The Velocity at which relativistic length of a body reduces to half of its original length is :

1 V3 3 1
(A) EC (8) —L;-C {c:;l'.'.' [ulﬁc
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Q.No.1
(1)

The absolute potential at a point distant 20cm from a charge of 2uC is
2 3 4
(A) 9x10V (B) 9x10 V (C) 9x10 V (D) 91105\.!

(2)

v
;— is unit of : (A) Magnetic Field Intensity (B) Electric Field Intensity

(C) Electric Force (D) Gravitational Force

(3)

Three Resistors of Resistance 20}, 30 and 6{) are connected in series. Their Equivalent

Resistance is (A) 10Q (B) 11Q () 1—1011 (D} %ﬂ

(@)

Which of the fotlowlnﬁ Apparatus Is used to measure Current, Voltage and Resistance
(A) Ammeter (B) Voltmeter (C) Avometer (D) Galvanometer

(5)

To convert a Galvanometer Into a Voltmeter, a high resistance connected in series with

Galvanometer is given by

Vv V Vv
(A) Ry = i Ig (8) H_""Ig = Rp () Ry = ;;—Rg (o) -—+ Rg =

(6)

The direction of the Induced Current Is always so as tq o,ppﬂe the change whh:h causes
the current : [A} Faraday’s Law (B) Lenz’s La'iv\.(f.] Ohm’s Law (D) Kirchhoff's Ist Rule

(7)

in D.C. Generator, Split Rings act as (A] qua::l';of {ﬂ} Commutator (C) Inductor (D) Resistor

(8)

The basic circuit element in a D.C. Clrcujt\ ﬁliich controlled the current and voitage is :
(A) Transf’ormer lB] Resistor (C) Inductor (D) Transistor

-4. J.._.

(9) | The device which allows onlv the ﬂm\i of D.C. is
S {A} Generator (B) Transformer (C) Inductor (D) Capacitor
(10) | A Semi Conductor wiH‘ hehave as an Insulator at temperature
- (&) 0K (B) 0°C (€) 10K (D) 10°C
(11) | Which Diode works at Reverse Blasing :
(A) LED (B) Photo - Voltaic Cell (C) Photodiode (D) Silicon Diode
(12) |The Voltage Gain of an Amplifier having Iy, = 1) , B = 100, Re = 200 is :
(A) 1000 (B) 2000 (C) 500 (D) 5000
(13) | The Materialization of Energy take place in the process of :
(A) Photoelectric Effect (B) Compton Effect (C}) Pair Production (D) Annihilation of Matter
(14) | The factor E%: has the unit of : (A) Kilogram (B) Second (C) Meter (D) Joule
(15) | The equation of Rydberg’s Constant is :
W) Ru= o= @) Ruz 22 (@ Ru= = () Ru= o
(16) | Binding Energy for deuteron nucleus Is given by

(A) 2.8 MeV (B) 2.23 MeV (C) 2.28 MeV (D) 2.25 MeV

(17)

Electrons are : (A) Hadrons (B) Leptons (C) Quarks (D) Baryons
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The Gradient of the Scalar Field is always be a

e ————— e R —— - JJ -
(6) The emf induced in 1 mH inductance in which currenr@ﬁanges from 5A to 3A in 1ms is :

Q.No.1
(1) (A) Scalar Quantity (B) Vector Quantity (C) Variable Quantity (D) Fixed Quantity
(2) | Work done by Maﬁe-t_ic Force on a charge particle while moving through Magnetic Field is :
q
(a) quvB (B) vB/q (C) — (D) Zero

(3) Which one of the following is used to determine internal resistance of a cell :

(A) Potentiometer (B) Wheat Stone Bridge (C) Ammeter (D) Voltmeter
(4) On removing the dielectric from a charged capacitor , its energy

(A) Increases (B) Remains Unchanged (C) Decreases (D) None of these
(5) The Ratio of Magnetic Force ( Fm) and Electric Force ( Fe ]- acting on a charge moving

E
undeflected through the field is (A) E/B {lei'x\__\B;’E (C) 4 (D) -

LR L

|

’ N _
(A) zpzagcﬁaqfitm 8x10 v (c) 2v (D) 8V

;
BT

SN\ N\~
."'l-'.l

The Inductance of Coil is prnpoﬁfonal to =

(7) -
(A) Its shape (B} The number of turns (C],T/lié',ﬁﬁ;’igtance of Coil (D) The Square of the number of turns
_-:_E-]“ In an A.C. Circuit, a Resistance{ﬂﬁ}:‘f?‘c’;nn;;ted in Series with an inductance L if phase
angle between voltage a?‘g‘@é};ﬁ{;he 45” , the value of inductive reactance will be
AN R R
\H\ (A) 2R (B) R (Q 7 (O 7
_{9} An A.C. varies as a-function of : (A) Time (B} Current (C) Voltage (D) Displacement
(1(}]‘ In Common Emitter Transistor Amﬁfi_ﬁer the Input Signal and Output Signal are always
(A) Have the same Magnitude (B) Have Same Phase (C) Out of the Phase by 180° (D) Negative
(11) | The value of Input Resistance of OP - Amplifier is of thec order of F
(A) Few Ohms (B) Milli Ohms (C) Kilo Ohms (D) Mega Ohms
(12) i Very weak_m_agnetifield produced by brain can be detected by BN
(A) Mrl (B) Metallic Needle (C) Squids (D) Cat Scanner
(13) | Who gave the idea of Matter Waves : (A) de - Broglie (B) Einstein (C) Huygen (D) Max - planck
(14) | Dead Time of G.M. Counter is approximately : _E
A 10 s (8 1077 s (0 10 °s (D) 10 s
(15) |In order to increase the stopping potential of ejected photoelectrons , there should be an increase in :
(A) Intensity of Radiation (B) Wavelength of Radiation
{C) Frequency of Radiation (D) Both Wavelength of Radiation and Intensity of Radiation
N [16T_Wl.eptons are particles do not experience :
(A) Strong Nuclear Force (B) Weak Nuclear Force (C) Electric Force (D) Magnetic Force
(17) “Which of the following is the energy required ( in ev ) for ionizing an excited Hydrogen atom

(A) 13.6 ev (B) 10.2 ev (C) More than 13.6ev (D) 3.4ev or less than it




(o)

Electric Flux does not deﬁgﬁd upon
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(A) Charge Enclosed (B) Medium (C) Medium and Charge Enclosed (D) Shape of Closed Surface

One Tesla in terms of other units i—e IT = ?:

oy - . 3 e 32
A) 1NA 'm (B 1NmA Tl () INA  m (D) 1NA m

(3)

Kirchhoff's Second Rule is based on the Law of Conservation of
(A) Mass (B) Momentum (C) Energy (D) Charge

(4)

(s)

Electric Intensity at a point close to an infinite sheet of charge is given by

¢ w2 g S o L
e, (B) Ea{)a {)Eﬂ

(A)

An Electric Circuit in CRO that provides voltage to X plates is called

(A) Tweet (B) Sweep (C) Sleep (D) Cheap

(6) | The sum of positive and negative peak values of an A.C. Cd}tg{&:i'ﬁs called :
(A) Instantaneous Value (B) Peak Va[ug_’rfj.&f'} P-P Value (D) rms Value
- R = I Nt
(71 Assembly of Coil and Cylinder is called : (A) Ggr@\r(atbﬁ“(ﬁl Solenoid (C) Router (D) Armature
(8) | One Henry is equal to : (A) g{:m’?ﬁ] Vs TATY (C) VsATl (D) VsA
| "2.'"/
(9) | In Free Space,the speed of Electron}_gg@gié Waves is
-1 ... KON -1 3 -1 4 -1
(A) 332ms ~ (BH3x10 ms  (C) 1.1x10 ms ~ (D) 2.6 x 10 ms
) =
i 20N,
(10) | Number of Diodes used imfﬁﬂWave ( bridge ) rectifier circuit are
AT
.-\_"l‘x\/'
R (A) 4 (B) 3 (Q 2 (D) 1
(11) | The value of Potential Barrier for Silicon at room temperature is
(A) 0.3V (B) 0.5V (C) 0.7V (D) 0.9V
{(12) | A Semi Conductor will behave as an insulator a_tﬂfé}nperature
(A) 0K (8) 0°c (€) 10K (D) 10°C
—
h hi .
(13) | Momentum of a Photon is given by : (A) ;4 (B) — () £ (D) L i
A C C C
(14) |In a Nuclear Transmutation when Thorium is transformed into Protactinium, the emitted
particle is : (A) A Beta Particle (B) A Neutron (C} A Proton (D) An Alpha Particle
(15) | The energy required to completely remove an electron from the first Bohr Orbit is called
(A) Excitation Energy (B) lonization Energy (C) Potential Energy (D) Kinetic Energy
(16) | A photon of Radio Wave has an energy of the order of i
-16 =10
(A) 10 eV (B) 10 ~ eV (C) 1eV (D) 1 KeV
(17) | The temperature of the core of the sun is about : -

(a) s m°c (8) 10 m°c () 20 m°C (D) 40 m°c
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| Q.No.1 | Photocopier and Inkjet Printer are the applications of
(1) (A) Magnetism (B) Electricity (C) Electrostatics (D) Electronics
(2) | Electroretinography Is used for the diagnosis of abnormality inthe :
(A) Eyes (B) Ears (C) Throat (D) Heart
(3) |If FourthBand is missing on Carbon Resistor, its Tolerance is : o
(A)£5% (B) +20% (C) +10% (D) + 30%
" (4) | The Magnetic Flux Density is measured In

(A) Weber (B) Weber/ m2 (C) Tesla / m2 (D) Nm

(5) ' Shunt Resistance is :

(A) High Resistance (B) Zero Resistance (C) Infinite Resistance (D) Low Resistance

(6) | If the Motor is overloaded,then magnitude of back emf gf;
(A) Increases (B) Decreases (C) Remajis e (D) Becomes zero
~ (7) [ Transformer is an Electrical Device used to change : o f:‘\(/ =
(A) Alternating Current (B) Direct E‘urrgﬁf@i? ?ﬁ!hematmy emf (D) Voltage
" (8) | During each cycle of A.C. Voltage reaches a pgﬁ!\d Ejue
q_{;(‘qlif_gc}h’i:e (8) Twice (C) Thrice {D) Four Times
(3) | Phase Difference between V and Iqﬁgfb\ic through Resistor is :
i 7 tﬁw (A) Zero Degree (B) 90° (C) 180° (D) 270°
(10) | The Young's Modulus gh_\f{ fﬁ;&?; is P
(&) 70x10°Nm 2 (8) 15x10°Nm™? (C) Zero (D) 91 x10°Nm2
“_{_111 The thickness of Base in Transistor is of the order of : —i
(A) 107° cm (B) 107 % (C) 10°m (D) 10" % mm
{12) |A sensor of Light is : (A) Transistor {8) LED (C) Diode (D) LDR
(13) | The most refined form of Matter by de - Broglie is : '
i {A) Smoke (B) Fog (C)} Light (D) Protons
“{i;l'}_ The existence of Positron was predicted by ;
(A) G.P.Thomson (B) Dirac (C) Germer (D) Newton
(15) | Balmer Series lies in the region of Electromagnetic
(A) Infrared (B) Far Infrared (C) Ultraviclet {D) Visible
{16) | The number of Neutrons present in the Nucleus Is given by :
| (A) N=A-Z (B) N=A+Z (C) N=Z-A (D) N=AXx2Z
"(17) | The S.I. Unit of Decay Constant is :

(A) Second (B) Meter (C) (Second)™? (D} (Meter) !

]
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QNot|If the distance between two charges is halved and charges are also doubled, then force
(1) |between them will be : (A) Two Times (B) Four Times (C) Eight Times (D) Sixteen Times
(2) [Coulomb Per Volt is called : (A) Farad (B) Ampere (C) Joule (D) Henry
(3) |What is the resistance of a carbon resistor which has bands brown, black and brown
(A) 100 Ohm (B) 1000 Ohm (C) 10 Ohm (D) 1.0 Ohm
(4) |For a current carrying solenoid the term " n " has units as
(A) No Unit (B) m} (€ m 2 (D) m™3
(5) [One Tesla is equal to : (A) NinA™ (B) N-lm.h (C) N.B..—Im'l (D} NAm
(6) |1f Motor is over-loaded, magnitude of back emf »'gr“:f_f‘j
TN
(A) Increase (B) Dﬁréggj (C) Zero (D) Remains Constant
(7) |One Henry is equal to (A) T3 B) vsa'l € visa (o) vsa?
(8) |In three phase A.C. Generator, Phase d)ﬁ{r;!;:\glhEMEen each pair of the coil is
(\r\\ul\—" (A) 90° B 2720° (© 120° (D) 180°
(9) [If the frequency of A.C. Su { \L dnubled then the reactance of the capacitor is
/\N“*’ (A) Half (B) Twe Times (C) Four Times (D) One Fourth
(10) {The Curi Temperam\re’ of Tron ds  : . (A) 125°€ /(B) 163°C (C) 750 K (D) 750°C
(11) {Which one pair belongs to acceptor impurity
(A) Arsenic, Phosphorous (B) Boron, Gallium (C) Antimony, Indium (D) Arsenic, Antimony
(12) | Thickness of a base in a transistor is of the order of
(A) o (B /™ (©) 10 %m (D) i i
(13) |The Boolean Equation for Exclusive OR Gate s given by
(A) X = AB+B-A (B)X=AB+AB (C) X= A-B+A-B (D) X= A-B + AB_
(14) | The factor —-—-!-:-I-- in the Compton Equation has the dimension of
(A) Pressure (B) Length (C) Mass (D) Momentum
(15) | The Rest Mass Energy of an Electron Positron pair is
(A) 0.51 Mev (B) 1.02 Mev (C) 1.2 Mev (D) 1.00 Mev
(16) | The first orbit in the Hydrogen Alom has a radius
(A) 53 x 1000 m B 5.3 107 m (C) 3:5x 10 % m (D) 3:5 x T
(17}

A pair of quark and anti quark makes a : (A) Meson (B) Baryon (C) Lepton (D) Hadron
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You have four choices for each objective type question as A, B, C and D . The choice which you |
think is correct, fill that circle in front of that question number. Use marker or pen to fill the

G circles. Cutting or filling two or more circles will result in zero marks in that question. ]
QUESTION NO. 1 i g PG —2-24 )
1 | Atest charge experiences force due to applied electric field
(A) Paraliel (B) Anti- Parallel (C) Perpendicular (D) Oblique
2 | Unit +ve charge is placed over a spherical hollow surface, flux crossing it outwards is
a) — (B) Zero ©= (02,
Eg €0
3 | Heat energy is converted to electrical energy by
(A) Primary cells (B) Thermo-couples (C) Solar cells (D) Generators
4 | A high speed graph plotting device is
(A) Voltmeter (B) Galvanometer (C) Ammeter (D) C.R.O
5 | Lamp and scale arrangement is used in galvanometers to measure deflection
(A) Stable (B) Dead beat (C) Sensitive (D) Astatic
6 | The behaviour is like resistors in alternating current
(A) Capacitor (B} Motor (C) Inductor (D) Generator
7 | Atransformer with many secondary coils is used for a_; ]
(A) Door bell (B) TV receiver (C) Power transmig}iprf'--"' (D) Transistor radio
8 | An alternating quantity can be represented by a A5\ c};“"y
(A) Static vector  (B) Rotating vector (C) Scalar- ) (D) Straight line
9 | At resonance, the voltage of inductor and canaﬁtéf_ih}series RLC circuit are
(A) In phase (B) Out of phase {Cb;?\g\ﬂ:rﬁ_ndlcular (D) Oblique
10 | The reverse current to reduce the magqﬁﬁétion to zero is called
(A) Retentive (B) Rernanangﬁ ? [C) Coercive (D) Magnetization
11 | A fast switching device rESpng]Txﬁ‘éih nano — seconds is
(A) PN Junction (B) iﬂﬁ&ﬁﬁiode (C) LED (D) Photo — voltaic cell
12 | When output of non — %vE\Ftlng amplifier is fed back directly to inverting input, gain is
(Azero (8 "2/ (@ one (D) 1- 2
13 | Second postulate of special thebry.of relativity is
(A) Wrong (B) Virtual (C) Experimental fact (D) Sometimes correct
14 | For low energy quanta, dominant properties are
(A) Particle nature (B) Wave nature (C) Dual nature (D) Multi nature
15 | Longest wavelength of Paschen series is (R = Rydberg’s constant)
(A) QKR” (B) 1‘1—4—/?RH (C) 1/RH (D) 4H0/9RH
16 | For a radioactive sample of initial population No, decayed fraction after 4 half — lives is
(A) 1,15 (B) 1/4 () 3/4 (D) 15/15
17 | The energy output per nucleon in fusion is greater than energy output per nucleon in fission
(A) 25 times (B) 6to 7 times (C) 17 times (D) 200 times
0L S
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QUESTION NO. 1 DY 12 1—23

1 | SI units of capacitive reactance are

(A)Farad (B)Ohm (C) Volt (D) Ampere

Which of the following does not undergo plastic deformation ?

(A) Glass (B) Copper (C) Wroughtiron (D) Lead

3 | For full-wave rectification , number of diodes used in bridge circuit is

(A)3 (B) 2 (C4 D1

4 | The SI units of current gain are

(A) Volts (B) Ampere (C) Weber (D) No units

5 | The Compton shift A4 is equal to Compton wave - length at an angle of
(A) Zero  (B) 90° (C) 45° (D) 120°

- *?KS\

6 | A single quantum of electromagnetic radiation is called

(A) Photon (B) Meson (C) Positron (D) Qu@rl«f.c‘\j

7 | The reverse process of photo electric effect is ca?ggl\!’ﬁ

(A) Pair—production (B) Compton

(C) Annihilation of matter (D) X-WSI()::

8 | Two down and one up quarks make (7>
(A) Proton  (B) Photon (C) )tmn (D) Deutron

9 | One Joule of energy absorbe;@ Kﬂogram of body is

(A)Rem (B) Roentg%%gj (C) Grey (D) Becquerel

10 | The minimum charge ot any object cannot be less than

(A)1.8x107" C y32%x10" ¢ (©1l6x10® C (D) 91x107° C

11 | An electric field can deflect

(A) Neutrons  (B) x-rays  (C) Gama-rays (D) Alpha-rays

12 | The SI units of the temperature coefficient of resistivity of a material are

(A) Ohm—meter  (B) Kelvin ~ (C) PerKelvin (D) Ohm-Kelvin

13 | Which has High resistance ?

(A) Ohm—meter (B) Ammeter = (C) Galvanometer (D) Voltmeter

14 | In order to increase the range of an ammeter , the shunt resistance is

(A) Decreased (B) Increased (C) Kept constant (D) Randomly changed

15 | The self inductance is given by the relation

(AYNL=01 (B) NI=L0 (C) N=LI0 (D)N@=LI

16 | If speed of a generator is doubled , the output voltage will be

(A) Same (B) One half (C) Fourtimes (D) Double

17 | The device which allows only the flow of D.C through a circuit is

(A) Inductor  (B) Capacitor (C) Transformer (D) A.C generator

R
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OBJECTIVE

NOTE: You have four choices for each objective type question as A , B, C and D . The choice

QUESTION NO. 1

which you think is correct, fill that circle in front of that question number. Use marker
or pen to fill the circles. Cutting or filling two or more circles will result in zero mark
in that question.

1

10

11

13
| 14
15
16

17

The slope of g-t graph at any instant of time g'l{fes
(A) Charge (B) Voltage (C) Current (D) Frequency
Which one here is a ductile substance ? |
(A) Copper (B) Glass (C) Stone (D) Steel

In p-type semiconductor, the majority charge carrier are

(A) Photons (B) Holes (C) Protons (D) Electrons

In reverse biasing a p-n-junction ideal, offers a resistance

(A) Zero  (B) Higher (C) Infinite (D) Medium

All motions are

(A) Absolute  (B) Uniform (C) Variable (D) Relative QL\}

In 1905, the theory of relativity was proposed by (0

(A) Maxwell  (B) Michelson (C) Einstein (D ifl\eg-'jBroglle

The radius of the 1st. Bohr orbit in hydrogen ato

(A)8.8x10%em (B)0.53x 10" cm (g)&@ 3 em (D) 1.6 x 10°' cm

1 atomic mass unit (amu) is equal to

(A)1.66 x 10* kg (B) 1.66 x 10"9\ : 'tBPC) 1.66x10*" kg (D) 1.66 x 107" kg

In nuclear radiations, the iracks -particles are

(A) Thin (B) Continuous ({ 3 Discontinuous (D) Eratic

The number of electrong/hﬁ[é coulomb charge is

(A)6.2x 10" (B)\I}ﬁ% 1072 P o(C) B0 . w®) 1.6 x 10"

The SI unit of relative permittivity of free space is

(A)N/m  (B)Nounits (C) Nm’C? (D) C°N'm”

The graphical representation of ohm’s law is

(A) Hyperbola (B) Ellipse (C) Parabola (D) Straight line

Energy stored per unit volume inside a solenoid is called as

(A) Energy density  (B) Electric flux ~ (C) Chargedensity (D) Current density
A charge patticle enters in a strong magnetic field, its K.E

(A) Remains constant  (B) Increases (C) Decreases (D) Increases than decreases
If we make magnetic field stronger, the value of induced current is

(A) Decreased  (B) Constant (C) Vanished (D) Increased

An alternating current is converted into direct current by a

(A) Rectifier (B) Motor (C) Generator (D) Transformer

In A.C waveform , negative peak is obtained at the phase angle of

(A)90° (B) 120° (C) 270° (D) 360°
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QUESTION NO. 1
1 % is equal to.

(A) Coulomb (B) Farad (C) Joule (D) Ampere
2 | 8.1 unit of electric flux is. :

(A)NC ! B) Nm’C" (C)NmC"' (D)NC'm’

3 | If there is a single black colour band around the body of a resistor, then the value of its resistance will be.
(A) Zero ohm (B) 10 ohm (C) 100 ohm (D) Infinity

4 | If 300 turns of wire are wound on 30cm length, then number of turns per unit length is

(A) 10 (B) 20 (C)100 (D) 1000

5 | Which of the following is not accurate potential measuring device ?

(A) Voltmeter (B) CR.O (C) Potentiometer (D) D,l’git.gl mulnmeter

6 | The rod of unit length is moving at 30° through a magnetlc ﬂeld—o‘f 1T. If the velocity of rod is 1 m/s ,
then induced emf in the rod will be.

A1V (B) 025V (C)()SV - (D)0.6V

7 | In alternating current circuit, inductors behaw;r}ﬂ(ﬂ;r’

(A) Semi conductors (B) Resistors (letmufators (D) Conductors

8 | Resistance of pure choke is.

(A) Zero (B) Large. | “(C) Very small (D) Infinite
9 | The device which allows onljl‘ihe“ﬁnw of D.C. is.

(A) Capacitor (B) “Fransformer (C) Inductor (D) Generator
10 | Curie temperature for iron is.

(A) 1153 K (B) 1023 K (C) 750K (D) 700 K
11 [IfR; =10k Q and Rz =100 k 0 , the gain of inveriing amplifier 1s

(A) -11 (B) -10 (C) 10 (D) 11
12 | The open loop gain of op-amp is of the order of.

(A) 10? B) 10° (cy10* (D) 10°
13 | 0.1 Kg is equivalent to the energy of.

(A) 9% 1097 B) 9% 107 (C) 6x 10 (D) 3 x10%J
14 | The rest mass energy of an electron positron pair is.

(A) 0.51 Mev (B) 1.02Mev (C) 02Mev (D) 1.51 Mev
15 | First spectral series of hydrogen atom was identified by.

(A) Lyman (B) Rydberg  (C)Balmer (D) Paschen

16 | Slow neutrons can cause fission in.

(A) Uranium - 235  (B) Uranium - 238 (C) Neptonium (D) Lithium

17 | Radio therapy is generally done with y-rays emitted from.

(A) Sodium - 24 (B) Cobalt - 60 (C) Iodine - 131 (D) Strontium - 90

16 (Obj) -12022 - 60000  SEQUENCE — 1 ( PAPER CODE - 8471)



PAPER CODE - 8472
12" CLASS - 12022

PHYSICS TIME: 20 MINUTES
GROUP: SECOND niz.zl MARKS: 17

OBJECTIVE

NOTE You have four choices for each objecnve type question as A , B, C and D . The choice which

you think is correct , fill that circle in front of that question number Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

QUESTION NO. 1

1

10

11

12

13

14

15

16

17

A charge of 4 C is in the field of intensity 4 N/C. the force on charge is
(A) 1N (B) 4N (C) 8N (D) 16 N

Second is equal to
ohm q

(A) Farad (B) Coulomb (C) Joule (D) Ampere

5A current flows through a conductor in 2 minutes, the charge in the conductor is.

(A)10C (B) 600 C (C)400C (D) 500C

If current flowing through a solenoid becomes four times, then magnetic field inside it becomes.
(A) Half (B) Two times (C) Three times (D) Four times

A 5m wire carrying current 2A at right angle to uniform magnetic ﬁeka @f Q 5 T. The force on the wire is.
(A) 10N (B) 5N (C) 4N (D) 25N /’“

Henry is equal to .(?‘—’

(A) VSA™! (B) VS’A ©) VIsA (D)3 {\S *A‘

If step up transformer 100 % efficient, the prim gq&?wndary windings would have the same
(A) Current (B) Power © Volt,a € > (D) Direction of winding

In R-L-C series circuit, the current at reso: uency is

(A) Zero (B) Minimum  (C) ¢ ﬁ/num (D) Infinite

The amplitude modulation tmnsnugaﬁah“ aves have frequencies range

(A) 540Hz to 1600Hz \‘\{B) 540 M Hz to 1600 M Hz

(C) 540K Hz to 1600 K\HZ\/ (D) 540 Hz to 1600 K Hz

The Curi temperature for iron is

(A) 125°C (B) 163 °C (©)750K (D) 750°C

Gain of inverting op-amplifier, if R; = co and Ry = 1

(A) o« (B) +1 ©) -1 (D) 0

The p-n junction on forward biasing acts as

(A) Capacitor (B) Inductor (C) High resistor (D) Low resistor
The unit of Plank’s constant is

(A) JC B) JC (C)JS (D) J/S

If temp. is doubled for a black body then energy radiated per second per unit area becomes.
(A) 4 times B) ; times (C) 16 times (D) - times

The quantized radius of first Bohr orbit of Hydrogen atom is.

(A) 0.053 nm (B) 0.053 m (C) 0.0053 nm (D) 0.53 nm

The dead time of G.M counter is

(A) 107 second (B) 10 second (C) 10°® second (D) 107 second

The temp. of core of sun is about
(A) 50 M °C (B) 40 M °C (C) 20M°C (D) 10M°C
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QUESTION NO. 1

1

10

11

12

13

14

15

16

17

A particle of charge 2 e falls through potential difference of 3.0 V will have energy
(A)1.5eV  (B)0.66eV  (C)6eV (D)12eV
The minimum value of charge on free particle is

AWie ®ie ©ZFc Me
The SI unit of conductance is
(A) Siemen  (B) Ohm (C) Henry (D) Weber

. Vv . : : " «
[n the exprcssmnf{ = i the radius is measured by making electronic trajectory

(A) Hyperbolic  (B) Ellipse (C) Dark (D) Visible

Output waveform of built-in voltage of the CRO is

(A) Sinusoidal (B) Square  (C) Rectangular (D) Sgy{ﬁt&o?h

The Lenz’s law is also a statement of law of conservation af 'C,wj

(A)Charge  (B)Parity (C)Mass (D) Energyi’)>)

The principle of A.C generator is ._ L':rj- I} :

(A) Lenz’s law (B) Faraday’s law (C)Mutual induction (D) Coulomb’s law
In A.C through resistance, current and va}tzl’égm

(A) in phase (B) out of phase ~\ 2 \"/ (C) current leads (D) 90° phase difference

The unit of % inR-L seriew%ﬁ\fis

(A)Ohm  (B)Volt (C)Henry (D) Unitless

The most suitable mcta!"”f\é‘;\i’naking permanent magnet is

(A)Iron  (B) Steel (C) Silver (D) Copper

Base of the transistor is very thin of the order of the

(A)10°m B)10"m () 10'm (D)1 m

The operational amplifier, when works as inverting amplifier. The phase change between its
input and output is

(A) 90° (B) 120° (C) 150° (D) 180°

The factor —— has the unit of

mye

(A) Kilogram  (B) Second (C) Meter (D) Joule

Which properties of radio waves are predominate ?

(A) Wave (B) Particle  (C) Partial wave (D) Partial particle

Finely focused beam of laser has been used to destroy

(A) Crystal structure  (B) Cancerous cells  (C) Weapons (D) " ~rms
Baryon with combination of up , up and up quark has charge

(A) le (B) 2¢e (C)-1le (D) —2e

H+2H— 3H + X +4.0 Mev. The particle X is

(A) In B (C)3H (D) electron
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QUESTION NO. 1

1

10

11

12

13

14

15

16

17

The core of the transformer is laminated to reduce

(A) Magnetic loss (B) Electric loss  (C) Eddy current loss (D) Hysteresis loss

The capacitive reactance to a pure D.C is

(A) Zero (B) Infinite (C) 2 Ohm (D) 3 Ohm

At resonance, the impedance of RUC series circuit 18

(A) Zero (B) Minimum (C) Maximum (D) Variable

Glass and high carbon steel are the example of

(A) Ductile substance  (B) Brittle substance ~ (C) Soft substance (D) Magnetic substance

The colour of light emitting diode (LED) depends upon

(A) The type of semiconductor material (B) The amount of forward ¢urrent  (C) Its forward Biasing

(D) Its reverse Biasing » _;@“?"
The voltage gain of an inverting operational amplifier is given li&'/’
input and output is “:’2:;{ 2
1 Rz - Hl nl Rl _\'r: _HJ} s RZ
= | o — G = 1- — f—J——— P =L —
MWG=1-2 B G=1¢ (©G=-2 t(;@ G=-

In order to increase the K.E of gjected phe_tpﬂ%qﬁﬁh , there should be an increase in
(A) Intensity of light (B) Wavelengihﬁof{h@faﬁon (C) Frequency of radiation (D) Power of radiation
Which of the following phcnc}mena@‘@m‘thﬂ particle nature of light
(A) Diffraction (B) Interfi cge}iégﬁ (C) Polarization (D) Photoelectric effect
X-rays has charge {f?’\“‘:\)w
(A) Positive  (B) Negdfive  (C)Zero (D) As thatof «-particle
The building block of protons and neutrons are called
(A) Electron (B) lons (C) Quarks (D) Positron
In nuclear fission reaction , when the products are 0% and *'Sr, the number of neutrons emitted are
A)1 (B2 (©3 D)4
The charge on the oil droplet in Millikan’s oil drop experiment calculated by using formula

W=  ®a=nm  OaRriy Me- Ly

One electron volt is equal to
(A) 6.25%10'%T  (B) 6.25%107%7  (C)1.6x10"°) (D) 1.6x10"]

The substance having negative temperature co-efficient is

(A) Carbon  (B)Iron (C) Tungsten (D) Gold

The SI unit of magnetic flux is given by

(A NmA!  B)NA'm! (©QNm’A'  (D)Nm'A

When a charge is projected perpendicular to a uniform magnetic field, then its path followed will be
(A) Straightline  (B) Circle  (C) Ellipse (D) Helix

If 10A current passes through 100 mH inductor, then energy stored is

(A)100J (B)5T1 (C)201 (D) Zero
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QUESTION NO. 1

Photocopier and inkjet printer are the application of

(A)Electricity  (B) Electrostatics (C) Magnetism (D) Electromagnetism |
| 2 | Selenium is

(A) Insulator (B) Photoconductor (C) Conductor (D) First insulator than conductor
3 | Siemen is the unit of

(A) Resistivity  (B) Resistance (C) Conductivity (D) Conductance

4 | The sensitivity of Galvanometer can be increased by
(A) Decreasing the area of coil (B) Decreasing the number of turns of coil
(C) Increasing the magnetic field (D) Using a fine suspension
‘ 5 | Ifacharge at rest ina magnetic field then force on charges is
(A) Zero  (B)Maximum (C) q(Vx B) (D)qVB cos®
6

Mutual induction has a practical role in performance of the

(0,
(A) A.C. Generator  (B) D.C Generator (C) Transformer f@gﬁgio choke
| 7 | Henry is S.I unit of \ A

{ O :

(A)Current  (B) Resistance  (C) Flux (D) Self @'\@;\ance

8 | In three phase voltage across any two lines is about - Q} -

(A)220V  (B)230V © 400V LTy 430 v

At high frequency ,the value of reactance %g: pacitor in A.C. circuit is
e

(A)Low (B) High (C) Zero (D) Me
10 | A device used to detect very weak ma tetic field produced by brain is named as ?
\

| (A)MRI  (B) CAT Scans AR Squid (D) CRO

11 | The size of base in transist@ﬂb}/
W10 m B)10¥ m L) 107 m (D) 10%m
The potential barrier for germanium at room temperature is
(A)03volt (B) 0.5volt  (C)0.7volt (D) 0.9 volt
13 | Photo diode can turn its current on and off in
(A) Micro-sec (B) Nano- sec (C) Pico-sec (D) Femto - sec
l 14 | Joule second is the unit of
| (A) Energy (B) Wien’s constant (C) Boyles law. . (D) Plank’s constant
’ 15| Photons emitted in inner shell transition are
(A) Continuous X- rays (B) Discontinuous X- rays (C) Characteristic X- rays (D) Energetic X- rays
ll_ 16 | 0.1 Kg mass will be equivalent to energy
l (A)5x10°]  (B)9x10"J  (C)6x10"J (DY9x10'®J
| 17 ] S.J unit of absorbed dose is
| | (A)Gray (B)Roentgen ~(C) Curie (D) Rem
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QUESTION NO. 1

1

7| The loss of energy over each A.C.cycle magnetization and dEﬂH

8 | At high frequency, the current through a capacitor

| Equation ¢ =E .4 is applicable to the surface
(A) Cylindncal  (B) Conical (C) Flat (D) Spherical

During danger the “eel” turns itself into a living battery then the potential difference between its head
and tail can be up to

(A) 160V (By220v (C)440V  (D)eOOV

3 | Electric coefficient is represented by

| (A)eo (B)ETr (C) uo  (Dur

4 | The Sl unit of flux density is

(A) Gauss (B) Tesla (C) weber / meter (D) weber

5 | The brightness of spot on CRO screen is controlled by

(A) Anode  (B) Cathode (C) Gnd (D) plates

6 1 A transformer steps 220 V to 40 V , If the secondary tums are 40 and then primary turns are

(A) 20 (B) 40 (©120  (D)220 PEN

(D} Conventional current

(A) Electric current  (B) Electronic current  (C) Ec}\tfig\
reuit will

| (A) Zero (B) Small (C) Large (D) Infirii

9 | Which of the following waves do not travel A@peed of light

(A) Radio waves  (B) X-rays ( %ﬂﬁ;ﬁd’ waves (D) Heat waves

10 | Domains contain nearly QA
(A)10°t0 10°atoms  (B) to*?f@ﬁigazéms (C) 1010 10 atoms (D) 10% to 10°® atoms
11 | Photovoltaic cell is formed (ffon
(A) Arsenic (B)Carbot! (C) Germanium (D) Silicon
12 | The gain of an inverting Zmplifier of external resistances Ry = 10 K Q and R=100KQ is
(A) -10 (B) -5 (Cy=2 M) 5

13 | The wave-length of emitted radiation of maximum intensity is inversely proportional to the absolute

temperature. This is known as

(A) Faraday’s law  (B) Rayleigh Jean's law, (C) Stefan’s law (D) Wien’s displacement law
14 | Photoelectric effect shows

| (A) Corpuscular nature of light (B) Dual  nature of light

(C) Electromagnetic nature of light (D) Wave nature of light

5 | The diameter of an atom is of order of

(A) 10°m (B) 10m (C) 10%m (D)10"“m

16 | The specially designed solid state detector can be used to detect

(A) a-raysonly  (B) B-raysonly  (C)y-raysonly (D) X-rays only

17 | A pair of quark and antiquark makes a

(A) baryon (B) lepton (C) muon (D) meson

tization of transformer core is called as
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QUESTION NO. 1

10

11

14

15

16

17

I | If time constant in RC Circuit is small, than the capacitor is charged or discharged.

(A)Slowly (B) Rapidly (C) At constant rate (D) intermittently

Gauss’s law can only be applied to

(A) A curved surface (B) A flat surface (C) A surface of any shape (D) A closed surface

The maximum power is delivered to a load resistance ‘R’ when the internal resistance of the source is
(A) Zero  (B) Infinite (C) Equal to ‘R’ (D) Equal tn%

The magnetic force on an electron, travelling at 10°m/s parallel to the field of strength | Weber /m” is
(A) 102N (B) Zero (C)10°N (D) 16 x 10N

The sensitivity of a galvanometer can be increased by:

(A)Decreasing the area of coil (B) Decreasin %é:il);}mber of tumns
(C) Increasing the diameter of suspension wire (D) Increas@ ¢ magnetic field
Lens’s law deals with the a («;\i\@
(A) Magnitude of induced current  (B) Direction gl d current
(C) Direction of induced emf (D) Ma@j@éﬁnduccd emf

5N

Transformer is used to change L?’;\\}\}

(A)Electrical power  (B) Electrical efergy’  (C) Magnetic ficld (D) Alternating voltage
[n a resonance circuit of frequen%@ Hz with inductor of SmH, the capacitance will be
(A)10.1pF  (B) 8.16 pF ~{ L {C) 3.3 pF (D) 5.09 pF

The most suitable meta] ing permanent magnet is

(A)Iron  (B) Alunfiiium (C) Stee! (D) Copper

| Which component of the transistor has greater concentration of impurity?

(A)Base  (B) Emitter (C) Collector (D) both emitter and collector
X = A-B isthe mathematical notation for
(A) NAND gate (B) NOR gate (C) OR gate (D) AND gate
In Compton scattering ,the value of Compton’s shift is cqual to Compton’s wavelength, when X-rays is
scattered at angle of
(A)O"  (B) 30° (C) 60° (D)90°
The physical quantity ,related to photon, that does not change in compton scattering is
(A) Energy  (B) Speed (C) Frequency (D) Wavelength
An electron in H-atom is excited from ground state to n=4. How many spectral lines are
possible in this case ?
(A) 6 B 5 (C) 4 (D)3
The meta-stable state is............. than normal excited state.
(A) 107 times larger (B) 107 times smaller (C) 10° times larger (D) 107 times larger
The particles which do not experience strong force are called
(A) baryons (B) hadrons (C) mesons (D) leptons
The force which is responsible for the breaking up of the radioactive element, is
(A)Weak nuclear force (B) Strong nuclear force (C) Electromagnetic force (D) Gravitational force
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NOTE: You have four choices for each objective type question as A , B, C and D . The choice which
you think is correct , fill that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

QUESTION NO. 1

1 | Identify the practical application of electrostatic force is

(A)Inkjet printer (B) X - rays (C) Laser (D) A.C. generator
2 | Product of resistance and capacitance is

(A) Velocity (B) Force (C) Acceleration (D) Time
3 | Kirchhoff’s second rule is based on

(A) Energy conservation (B) Mass conservation

(C)Charge conservation (D) Momentum conservation
4 | Two parallel wires carrying current in the same direction i

(A) Repel each other (B) Have no effect upon each 01.@{}. )

(C) Attract each other (D) Cancel each other effect | r:,)

{ 5 | If the motor is overloaded then magnitude of back e m. »\\O

(A) Increase (B) decrease /(, (D) Remains constant
6 | Choke consumes extremely small L(\_j

(A) Current (B) Charge @’\}“ “{C) Power (D) Potential
7 | Metal detector consists of Q\\‘

(A) L C circuit (B)RL eirguit\> s (C) R C circuit (D)R L C series circuit
g | Good conductor have Condu ivities of the order of

(A) 107 (Q m)” ( Qmy’ (C) 107 (Q m)’ (D) 10% (2 m)"
g | The Curi temperature is

(A)125°C © (B)163 °C (C) 750K (D) 750 °C
10 | The Boolean equation for exclusive NOR gate is given by

(A) X = AB + BA (B) X= AB + BA (C)X=AB +BA (D)X =AB + AB
11 | The potential barrier for silicon at room temperature

(A) 0.7 volt (B) 0.3 volt (C) 5 volt (D) 1 volt
12 | When platinum wire is heated it becomes orange at

(A) 500°C (B) 900 °C (Cy1i00°C (D) 1300 °C
13 | 1 Kg mass will be equivalent to energy

(A)9x 10" j (B)9x10"] (€)9x 10 j (D)9 x 10° j
14 | The value of Rydbergs constant is

(A)1.0974 x 107m (B) 1.0974 x 107 m" (C) 1.0974 x 10" m" (D) 1.0974 x 10* m
15 | Balmer series lies in

(A) Infrared region (B) Visible region

(C) Ultraviolet region (D) Far ultraviolet region
16 | The Y-rays emitted from radioactive element have speed

(A)1x10" ms*  (B) 1x10° ms’ (©)3x10° ms™ (D)4 x10° ms’'
17 | The dead time for G.M Counter is of the order of

L(A) 1078 (B) 1078 (©) 1078 (D) 10*S
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One henry is equal to: ﬁ w

1.1

10.

1.

12.

13.

14,

15.

uestion with Marker or Pen ink on the answer sheet provided.

ety

r
©

(A) VsS4t (B) vsat? vs-ta
When motor is overloaded, the magnitude of back emf is:

(A) Constant (B} Increases (C) Decreases
In capacitor circuit phase between current and charge is:

(A) Parallel (B) In phase (€) Anti paraliel
Al resonance frequency the impedence of RLC series circuit is:

(A) Minimum (B) Maximum (C) Both (A) and (B)
Which has least hysteresis loop area?

(A) Softiron (B) Steel (C) Wrought iron
During negative half cycle of A.C. , p — n junction has:

(A) Low resistance (B) No resistance (C) High resistance
Device which converts low.voltage or current to high voltage or current is:

(A) Rectifier (B) Transformer (C) Inductor
The momentum of phaton is represented by the equation:

(A) p=mv ®) = i (C) ' 5‘*\{’
The energy needed by photon to create electron-positron pair. is: . 4 @v

(A) 1.02 MeV (B) 0.52 MeV 0.051 MeV
Bremsstrauhlung radiations are example of. Q. g%

(A) Molecular specira  (B) Atomic s&\l&a@

1 rem is equal‘to:

(A) 0.1 5V (B) ISV (C)
Radiotherapy is generally done w'rﬂii@éﬁs emitted from:

(A) lodine-131 (8) Strontium-80 (C)
Charge on the Droplet can be calculated by:

A =g @ 9=am O
If the distance between two charges is haived, Force becomes:

(A) One fourth (B) Four times (C)
The minimum power is delivered to across the resistor R, when:
(A) r=oo (B) r=0 (C)

(C)  Continuous spectra

2.04 5V

Sodium-24

mgd

q=_v_

Half

r=~R

A positive charge is moving away from observer. Direction of magnetic induction will be:

(A) Anticlockwise (B) Towards right (C)
Shunt resistance is:

(A) Low resistance (B) High resistance (C)
625-12-A

Zero resistance

Towards left

N

(D) V1S4
(D) Infinite
(D) Out of phase
(D) Infinite
(D) Cobalt
(D) Remain same
A
aQ {ﬂ}:) Amplifier
Z
(D) p=hA
(D) 1.51 MeV
(D) Discrete spectra
(D) 3.06 5V
(D) Cobalt-60
(D) q= migd
(D) Double
(D) r=R/,
(D) Clockwise
(D) Impedence
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1.1 The rest mass of photon is:

(A) Zero B) 167x10%kg () 167x1073 kg (D) 9.1 x 1073 kg
2. Xerays are also known as:

(A) Cathode rays (B) Positive rays (C) r-rays (D) Alpha rays
3. The atomic number of 15461 Bais:

(A) 141 (B) 56 (C) 85 (D) 92

4 One unified mass scale (1U) is equal to:
(A  166x107kg (B) 166x10%7kg (C) 166x1073'kg (D) 1.66 X 10728 kg

5. Value of dielectric constant for vaguum is:

(A) Less than 1 (B) Greater than 1 (C) One (D). " 15
6.  Gold band on resistor represent its tolerance equal to: xg@\

(A) +10% (8) +5% © +15% ©\m1” +20%
T An apparatus placed within a metal enclosure is “shielded” from; _ Q(\O

(A) Electric field (B) Maganetic field C) %’é&ﬂbkﬁald (D) Electromagnetic field
8  The Sl unit of magnetic induction is; \[" *@

{A) Weber (B) Tesla \5 Newton (D) Joule
)

9. The sensitivity of Galvanometer can be increased by decr@:
\ O

(A) C/BAN (8) B/. “(C) CB/AN (D) NC/AB

10.  The minus sign in Faraday's law of electroma shows that the direction of induced em f is such that it opposes the change in:
(A) Electric flux (8) <\\\:E ctromagnetic fiux (C)  Gravitational flux (D) Magnetic flux

1. The emf induced in.a generator is:
(A) Nw AB Sin8 (B) Nw IB Sin® (C) NAB Sind (D) NwB Sin0

12. Iy is the peak value of A.C current, its average value over a complete cycle is:

(A) V21, (B) Io /N2 (C) = ) Zero
N

13, The value of angular frequency “w" is equivalent to:

(A) 2n T (8) 4n f (C) 2n f (D) nf
4. Based on the geometrical structure and arrangement of atoms, there are ___ crystal systems:

(A) 6 (B) 5 (C) 7 (D) 8
15, The potential barrier for the Ge™ at room temperature is:

(A) 0.7v (B) 10v (C) 06v (D) 03v
16.  The mathematical notation for exclusive OR-operation is:

(A) X=A+B () X=AB+BA (C) X =AB + BA (D) X=A<B
17, The pholoelectric effect explained by:

(A) Darission 1o Gerwer (C) Hertz (D) Einstein

627-12-A -~ ;’_)\
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1A,

10.

11,

12.

13.

14.

15.

16.

17.

The basic circuit element in a 0.C circuit is:
(A) Capacitor (B) Inductor (C)

The witical temperature of mercury is:

(A} 4.2k (B) 118k (C)
The open loop gain of op-amplifier is of the order of:

(A) 102 (B) 10° (C)
X = A + B is the mathematical notation for:

(A) AND gate (B) OR gate (C)
The momentum of a moving photon is:

(A) P=h/A (B) P=A/h (Ch
Pair production can take place: by using:

(A) X — rays (8) x ~rays (©)
The value of Ryd berg's constant Is:

{A) 10974 x10’m~' (B) 1.0974x10""m™!

Half life of uranium —238 is:
(A)  45x10"years (B) 4.5 x 10*%\years (C)
The potential difference between apederand cathode i a neonpro

(A) 200 v [B) 300 v
(A) 6.2 x 1018 (B) \\@

The number of electron in one:goulomb charge is:
The $-1 unit of electric flux is: ¢ 4 ,

(A) Nmc

Battery (D)
372k (D)
10° (U,
NOR gate (D)
P = hf )
B ~rays ()

9 0% years (D)

éd G.M counteiNs:
400 v (D)
6.2 x 10%* D)

Y //
-1
@ Nm?c* (Cy NmZc (D)
A rheostat canke used as: //

(A) Transformer

Lorentz force is known as;

( Ampiiﬁe./ (C)
/>
(8) /f =q@x B  (C)

Digital multimeter (C)

(A) F=KLx B)
DMM stands for:

(A) Digital millimeter (B)
When the back emf in a circuit is zero it draws:
(A) Zero current (B)  Steady average current
The principle of AC generator is based on:
(A) Mutual induction (B) Self induction (C)
The graph between A.C voltage with time is:

(A) Cosine curve (B) Tangent curve (C)

629-12-A-

Digiial measuring meter

Osciliator (D)

=gE + q(@ x B)

Minimum current (D)

Electromagnetic induction

Sine curve (D)

i,
ST

D)

Resistor

72k

10*

NAND gate

P = mc?

¥y —rays

1.0974 x10'm

4.5 x 10° years

220 v

Potential divider

£t

i
o

my

Digital ammeter

Maximum current

All of these

Cot curve
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1.1.

P

4,

o

10.

1.

14,

18.

17.

LDR becomes necessary when vp-amplifier is used as:

(A) Comparator {13 Rectifier e lnverter (D) Night switch
It velocity of body becomes equar to ‘C' then its mass becomes:

(A) 0 kg (i3) = (C) = co D = '“0’!2
Which one is low energy photon®

(A Visible light {13) Infrared light (C) Ultraviolet light (D) X-ray

In Helium — Neon Laser, the perc 3niage of Helium is:

(A) 75% (1) 65% () 60% oy 85%
The number of neutron present in the nucleus is given by: . :

(A) N=4-2 (1) N=A447 () N=Z—A = R N=ax2
The binding energy per nugleon i maximum for: hE)

A) Radium (F) Polonium - (€) e+ Iron ' (D)= :. ~Heiium

Electric flux through a closed surf:ce depends upon:

A Charge () Medium 40, Geometry
The negative of potential gradientis: =~ g
() Electrostalic force (B} _Eiééiﬁﬁ_hﬁf@ﬂntensii}‘ (C) . Rolen Electromotive force

Charge carrier in electrolyte are:

(A]  Positive &_negative ion :B) (D) Holes
Newton force (D) Centripetal force
AN Co
o o T
ae BAN

Induced emf can be increased by; T )

(A) Increase resistance of coll . (B) 'Dé_;reasa resistance of coll  (C)  Increase numberof tums (D) Decrease magnetic flux
The working principle of transformer is:

(A) Self induction (B) Faraday Law (C) Mutual indugtion (D) Electromagnetic induction
The wave forin of aliernating voltage is a:

(A) Sine curve (B) Tan curve (©) Catangent curve (D) Cosine curve

The main advantage of use ol A.C is:

(A} Minimum line losses (B}  Longdistance  (C)  Step up torequired voltage (D)  Step up to required current
Which of the following does not go slastic deformation:

(A) Copper (B) Wrought iron (G) Lead (D) Glass

The output voltage of rectifier is:

(A Smooth (B) Pulsating () Perfectly direct (D) Alternating
G31-12-4-
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10.

11.

12.

13,

14.

15.

I6.

17.

. A PN junction cannot be used as

fill that circle in front of that question number. Use markﬂr or pen to fill the circles. Cutting or filling two more
circles will result in zero mark in that question. Attémpt as many questions as given in objective type question

paper and leave others blank.

- An A.C voltmeter has rms value 220 V, its peak value is

(A) 300V (B) 210V (C) zero (D) 31112V
For higher frequency, the inductive reactance will be .
(A) high (B) low (C) zero (D) infinite

. At 0K, semiconductor is

(A) conductor (B) insulator
(C) perfect insulator (D) perfect diamagnetic and paramagnetic

(A) amplifier (B) capacitor (C) rectifier (D) light emitting diod
. The portion of the transistor with greater concentration is

(A) base (B) collector (C) emitter (D) insulator
. The maximum energy of photo-electron depends upon

(A) frequency (B) intensity (C) power 61 fﬂ?) illumination

: Compton shift in wavelength is zero when scattering angle of photon ;s\n

A) 30° (B) 60° (© o C, (D) 90°

. In population inversion, atoms can reside in metastable sta;}&‘q
1 (D) 1072 sec

(A) 1070 gec (B) 1073 sec

. The percentage of original quantity of mdwactlve mn;%lal left after five half-livesisnearly _

@) &% ® % 7 © 10% @) 3%
Which of the following is used as moderator ‘&nuclear reactor?

(A) beavy water ®) bgmﬁ;v‘c’ ——rcadoiun (D) abisinim
If the distance between charges uﬁha]ved and each charge is also doubled,

then the force between twqchhges becomes times.

(A) two @) sixteen (C) eight (D) four

The force between two charges is 36 N and if the dielectric constant 3.6 value is inserted,
then force reduces to

(A) zero (B) 72N (C) 25N (D) 10N

A thermistor with positive temperature of co-efficient is heated then its resistance will _____ .

(A) decrease (B) increase (C) not be affected (D) become half
The magnetic force on a neutron in the magnetic field of 10 T is

(A) zero B) L6x107'8N (C) 100N (D) 1.6x10°N
A charge particle cannot be accelerated in field. '

(A) electric (B) gravitational (C) magnetic (D) scalar
The energy stored in the inductor becomes four times if ;

(A) self-inductance is doubled (B) current is doubled

(C) both inductance and current are doubled (D) current is halved

Which type of energy is stored in inductor?
(A) electric energy (B) magnetic energy (C) potential energy (D) gravitational energy

629-12-8- % W -17960
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1. 1. Which one is not a ductile material?

(A) lead (B) copper (C) steel (D) iron
2. Open loop gain of operational amplifier is of the order of .
(A) 106 B) 103 (©) 107 (D) 10°
3. Gain of inverting amplifier with external resistance R1 =10k €2 and R2 =100k Q ,isgivenas ____
(A) -10 (B) 10 (C) -100 (D) 100
4. All motions are .
(A) absolute (B) uniform (C) relative (D) variable
5. If an object moves with the speed of light, its mass will be
(A) zero (B) maximum (C) infinity (D) minimum
6. Which of the following has the largest de Broglie wavelength at same speed?{; )
(A) proton (B) « - particles (C) carbon atom’ (‘ % (D) electron
7. The dead time of G.M tube is \O
(A) 1073 sec (B) 106 sec (C) lﬁ**sﬁc (D) 108 sec
8. Slow neutrons can cause fission in ‘ N f\___:\_'_{/'
(A) uranium - 238 (B) uranium - 235 fbtci neptunium (D) lithium
9. SI unit of electric flux is . \f‘ )
" (A) Nm?C™! (B NmiC(\ {\ ¢ S (© Nm'lc @) NC!

10. A proton is moved from low potennaktﬁhﬁgh potential between two points having
potential difference of 1 volt eﬁ@?‘gmncd by proton is

(A) lev B) 2ev © L6x10%y (D) L6ev

11. A rheostat can be used as
NU(A) potential divider (B) variable resistance  (C) amplifier (D) both (A) & (B)
12. Magnetic field due to current carrying straight varies as
1

@ — B) 12 © % (D) r
13. Charge to mass ratio of neutron is

(A) zero (B) 9.53x10° c kg?  (C) 1.758x10°Ckg™? (D)1.775x 107! C kg™
14. The motional emf depends upon

(A) length of conductor (B) magnetic field (C) speed (D) all of these
15. Lenz’s law is the manifestation of conservation of

(A) current (B) voltage (e energy (D) all of these
16. The reactance of an inductor is given as ;

1 a L
(4) oL B — © ¥ @) £

17. The reactance of an inductor increases with increase in g
A frequency (B) voltage (C) resistance (D) capacitance
631-12-5- % % % -15380
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1.1, Unit of electric flux is:

(A) Nm?C? (B} Nm?C (C) N'm*C! (D) Nm2C
1
2. The statement ®= EQ was given by: _
(A) Faraday (B) Dersled {E{ Gauss (D) Coulomb
3. Reciprocal of resistance is:
{A) Capacitance (B) Conductance (C) Inductance (D) Resistance
4. Lorentz forceis given by: -~
Siig - - S —— — — - — — . —
(A) F=I(LxB) (B) F=q(VxDB) (C) F=qE+q(VxB) D) F=gE
5. A power line 10m high carries a current 200A. The magnetic field of the wire al f[_f;le_. ground is:
(A) 4x10°T (8) 40x10°T (C) 4x107™'T ,_,\?“\l;;,g}n} ax10°T
6. Relalion for energy density in case of an inductor is: A /‘i_\@ )
.l Hy_ Q;%; ) B
(A) 24, (B) Hp? {er;u‘ ke (D) 2,7

Q-.J-”Ux:ﬁ ’

7. The Lenz's law is also a statement of: ]
P> . —
"JQ;}U (f1) Law of consarvetion of charge

_(A) Law of conservallon of momonitm

(C) Law of conservation of energy \/\‘};10 > (D) Faraday's law

8. Pealk to Peak value of an ahernat_'r\ w age is:
(B2Ve (B~ v o (D) Vo
Sl J2
9. In RLC series resonance circuit, the condilion for resonance Is:
(A) X=X, (B) X, <X, Q) XX, (D) X.>Z
10. Young's modulus of lead is:
(A) 1.5x10"Nm2 (B) 7.7x10°Nm? (C) 5.6x10°Mm? (D) 2.2x10°Nm?
11. Number of diodes used in half wave reclifier is:
(A) 4 (B) 3 (C) 2 (D) 1
12. 6.1 unit of currenl gain of transistor Is: .
(A) Coulomb (B) Ampere (C) Farad (D) No unit
13. When platinum wire is healed it appears cherry red at: -
(A) 1300°C (B) 1100°C (C) 800°C (D) 500°C
14. The value of Wein's constant is:
(A) 2.9x10°miK (B) 2.9x10°miK (C) 2.9mK (D) 2.9x10%mK
15 In Helium-Neon laser the value of Helium is:
(A) 85% (B) 75% (C) 6hi% (D) B0%
16. Half life of Uranium-238 is:
(A) 4.5x10'? years (B) 4.5x10"" yoars (C) 4.5x10" years (D) 4.5x10° years
17. The dead time of the counter is:
(A) ~107S (B) ~10°8 (C) ~10°8 (D) ~107s

629-12-A- T -
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1.5

4

f

i1

12

I Bi.C series craud, 38 nigher frequencics

(A) X =X, (B) X, »X. (G} X <X

. Which one belongs to trivalent group?

(A} Alummnium (B) Antimoney {C) Phasphorous
Coalour of tight emitted by LED depands uporn

(A) s forward biasing (B} ils reverse brasing (C) type of matena
Al low temperature, a body emits raciations of.

(A) shorter wavelengln

(C) high frequency {D)
The shorlest wavelength in Lyman seres is equal 0.
(A R, @ Ru c) L.
]
2 R,

In the teaction, X+ -2 <> TN+ 11 . X 18!

(A) 111 @ (G) ¢

If the charges are doubled and the dislance between them is aiso doubled, ther Coulomb s

{ four times
Q ibuted,

(A) double (B} haiveo (C) remains same

A rubber ball of radius 2cm has a charge ot Sgie on its surface, which 1s unt
the value of I at its centre 1s @
{A) 1ONC' (B) Zero (C) 25NC,

WWhich one of the following relation is correct? ©

(A} joule=valt x ampere (B) joute=coulomi £ volt
in carbon resistors, which co'our nand inaicates Lhe !

{A) White (8) Silver
For an open circuit, teeminal polential difference

(A) Vi=2emf {B) Vi=em! {C) Vizeml
An electron iravelling at 10%m/s en's

{A) Zero (8) 30 iy 107N
When a charged partie:_

(A) UIrH t‘.n.‘n'} 5 ) f,n’”“ \hl ;,'” (C) quid

I arder lo increase the range of valtmeler Ry 15

(A} increased {B) decteased {C) uncharged
Which device permits the fiow of b C?

{A) Capacitor (B) Photocell (C) Imduciar

_ For an wWeal step up transformer.

(A) Ng>Ng (B) VslgVplp (C) VgV
When a melal detector comes close lo & metal then 1ls frequeacy

{A) becomes double (B) remains same (C) becemes half

629-012-A- VW W

(B) longer wavelenglh
high freavergy& shorter wavelengin

D) =R

r
| Paper Code

|

4

7)1

KW= = 1c

(D) Arseric

{D}- forward current

A

(D) ¢

(D) 5x10°NC!

O} vislet

(D) Vi<emi

5
1

(D) 16x 107N

(D) zero

Marks: 17

force will be:

\impere (D) joule=coulomb x volt

llel in @ magnetic fielg of 1 tesia, the magnetic force acting on it 15

e orpasite te the direction of magnetic held. il expenences 8 farce equa’ to.

(D) increased by 4 imes

(D) transformer
(D) lg= Ep

{D) ncreases
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Phuvsi: Sessions: 2015-2017 a 2016-2018
YSICS  (Objective Type) (L -y
Time: 20 Minutes aa P"' l > Marks:

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D 1o each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Maximum compton shift is cbserved at:

(A) 0° (B) 90° (C) 180° (D) 45°
2. Bremsstrahlung radiations are example of:
(A) Atomic spectra (B) Molecular spectra (C) Continuous spectra (D) Discrete spectra
3. What is different in isotopes?
(A) number of protens  (B) number of neutrons (C) number of electrons (D) Charge number
4. Circulation of blood is studied by radio isolope:
(A} carbon-14 {B) carbon-12 (C) cobalt-60 (D) sodium-24
5. if electric lines of force are equally spaced the electric fieid is: AN
(A) uniform (B) non-uniform (C) weak \(““’ : (D) strong
€. Drum of Photocopier is made of: Aa. /i) :
(A) izopper (B) Toner (C),_;@%é%rﬁﬁ/m (D) Aluminium
7. Magnetic effect of current is used in: i Irj/f,
(A) Toaster (B) Electric motor A€y Electric iron (D) D.C battery

RN
& Two current carrying parallel conductors are Iying;tr\fﬁafne direction, they.,
(A) form magnelic dipole (B) attract eachqther” (C) repel each other (D) have no effect
9. If current flowing through a solenoid bg,gq&[éé’fuur times, then magnetic field inside it becomes:

(A) two times (B) threg times (C) four times (D) half
10. In A.C,inductor behaves as:
(A) Capacitor (B) Resistor (C) Commutators (D) Transistor
11. In A.C generator when plane of coil is perpendicular to the magnetic field, then output of generator is:
(A) NWAB (B) > (C) maximum (D) zero
12. in metal detectors, we use:
(A) RL circuit (B) RC circuit (C)  LCcircuit (D) any of these
13. In frequency modulation, which factor is changed?
(A) Amplitude of carrier waves (B) Frequency of carrier wave
(C) Amplitude of signal (D) Freguency of signal
14. A material which is insulator at OK and conduct at room temperature is:
(A) Silver (B) Lead (C) Germanium (D) Polythene
15. Doping is made compartively larger in:
(A) emitter (B) base (C) collector (D) P-type semi-conductors
16. In put resistance of op-amplifier is of the order of:
(A) Few ohms (B) Mega ohms (C) Milli ohms (D) Micro chms
17. Light of 4.5ev is incident on a cesium surface and stoping potential is 0.25V, maximum K.E of emitted electrons is:
(A) 4.5 ev (B) 4.25 ev (C) 4.75 ev (D) 0.25 ev

629-012-A- W W YT
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( Inter Part —II) (Session 2020-22 o 2022-24) Sig. of Student --eeeemeeeeee .
Physics (Objective) Q p p__..,)qZQ( Group IT) Paper (II)
Time Allowed:- 20 minutes PAPER CODE 4472 Maximum Marks:- 17

Note:- You have.four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

‘white correcting fluid is not allowed. Q.1
1) If the distance between two point charge is halved, the electric intensity becomes
(A) Half B) 1 . (C) Double (D) 4 times
E times

2) Current which flows from high potential to low potential is

(A) Electric current (B) Conventional
current

3) The value of permeability of free space is
(A) 472x10°WbA " \m™" (B) 4z x107Wp4A'm™ (C) 4 x107°WbA~"'m™' (D) 4mx10"Wba~'m™

(C) Eddy current (D) Remain constant

4) Lenz’s law applies on
Direction of

(A) Magnitude of emf (B) Direction of emf  (C).

induced current () Resistance

5) The mean value of A.C in a cycle is A
(A) 1 (B) O ©) L D&\

6) Which one is a ductile substance.

A
\
(A) Glass (B) Wood (C)Lead , ~{ \<;> (D) Oxygen
7) Reverse current flows due to C}i\{z} )
Majority charge Minority charge R N i
(A) catries (B) carrier (D) Holes
8) Earth orbital speed is B\

(A) 10 km/s (B) 20 km/s _ CAen30 km/s (D) 40 km/s
9) Which of the series of hydrogen atom lies iniitravighet e

(A) Laymen series (B) Balmer sprf§§ Q\j/ (gfbhen series (D) Bracket series
10) The binding energy per nucleon is niaxitnum for o

(A) Helium (B) Irofi) | ((ﬁf nium (D) Radium
11) Which one is photo condugtgﬁﬁ’x\gy - o
(A) Copper J(B)-Selenium (C) Mercury (D) Aluminium
12) If the length and turns of a 50lenoid is doubled, strength of magnetic field will be
(A) Doubled (B) Half (C) Constant (D) Four times
13) Energy stored in inductor is
(A) L. (B) }-Lf (€) LLEI (D) _I_szz
2 2 2 2
14) In case of A.C through resistor, voltage and current are
(A) 0° (B) 90° (C) 180° (D) 270°
15) A diode characteristic curve is plotted between
(A) Current and (B) Voltage and Time = (C) Voltage and (D) Current and Time
Resistance current

16) At low temperature, Body emitts radiation of

(A) Short wavelength  (B) Long wavelength  (C) High frequency (D) Both (A) and (C)
17) Which one is not affected by Electric and magnetic field.

(A) B—rays -+ ¢B) v —rays (C) o —rays (D) Electrons

g ;;/ 1229. 1224 12000 (1)



( Inter Part — [i) (Session 2015-21 (o 2021-23) Sig. of Student ——eeeommmiees
Physics (Objective) Groupl)  SGPA2-23 Paper (II)
Time Allowed:- 20 minutes PAPER CODE 4475 Maximum Marks:- 17
Note:- You have four choices for each objective type question as A, B, C and D. 'I'he choice which you think is correct: fill that
circle in front of that question nuraber. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in

zero mark in that question. Write PAPER CODE, which is printed on this i i
_ . , wh question paper, on the both sides of the A '
and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or xihitgsguoi*escirlf;;

fluid is not allowed. Q.1
1) A spectrum of radiation is which the quantity being studied, such as frequency or energy takes
discrete value is called spectra.

(A) Banfi (B) None (C) Continuous (D) Discrete

2) The particles greater in mass that protons are called
(A) Mesong ’ (B) Baryons (C) Bosons (D) Nucleons

3) Moderatqr in fission process slow down the fast neutrons and make it easy to produce fission is
(A) Uranium-235 (B) Thorium-223 (C) Natural Uranium (D) Uranium 239

4) Two opposite point charge of same magnitude separated by distance “2d”, electric potential midway
between them is.

2
(A) 1V (B)2V () Zero D) /2
5) Electron volt (eV) is the unit of.
(A) Potential (B) Electric field (C) Energy (D) Charge
6) The SI 1lmit of temperature co-efficient of resistivity is
(A) C* (B) F** (C)K'm (D) K
7) A galvanometer can be made sensitve by. ?@\
Using a small and Decreasing the area Increasing th NG Decreasing the turn:
(A) thick suspension (B) of coil (© magnetic_ 1@\/ (D) of coil : i

AR .
(A) Circular (B) Spiral (C )/geggu (D) Ellipse
9) The principle of an electric generator is based 0n« 7\ S, , ,
(A) Coulomb’s Law (B) Faraday’s Law 0 »%@\}’Ampere s Law (D) Lenz’s Law
Electro mag Etﬁ(f’
Induction \\.O <

T

10) The SI unit of mutual induction is |
](A) Vs'A™ (B) V. ‘1@ (C) Henry (D) Both (B) & (C)
11) An expression for capaciti@;m ance is given by.
1 | B
X =—— B) X,=—— C) X, =2#C (D) X, =27fL
: - ”
12) At what frequency will an inductor of 1.0 H have a reactance of 500 £2 "
(A) 90 Hz (B) 100 Hz (C) 80 Hz (D) 110 Hz
13) The electrical resistance of mercury disappears suddenly as the temperature 15 reduced
(A) Above 4.2 K (B) Below 4.2 K (C)To4.2K (D) 7.1 K
14) In P-type material, the majority charge carriers are
(A) Electrons (B) Protons (C) No-charge (D) Holes

15) The output of two input OR Gate is “0” only when its. ' 5 ' ' g
(A) Both inputs are  (B) Either input is“1”  (C) Both input are “1” (D) Either input is 0

EEO)'}

16) The mass “m” of a moving object with speed 0.8¢ is.
(A) 0.66 m, (B) 0.97 m, (C) 1.67 m, (D) 1.08 mo
17) In compton effect the wavelength of Scattered X —raysis__ than the wavelength of incident
X —rays.

(B) Larger (C) Same order (D) All of these

(A) Smaller
1221 - 1223~ 18000 (3)
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( Inter Part — II) (Session 2019-21 (o 2021-23) Sig, of Student  -~-------mmrsras
Physics  (Objective) (_S&ﬁr'/).-— 222 Group Ii ) raper (k1)
Time Allowed:- 20 minutes PAPER CODE 4476 Maximum Marks:- 17

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed 'on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allow:d. Q.1
1) Isotopes of Xenon ar:
(A) 12 (B) 24 (C) 36 (D) 37
2) Rinding energy per nucleon is maximum for
(A) Uranium (B) Gold (C) Silver (D) Iron
3) The value of relative permitivity of air is close to
(A) Vacuum (B) Paraffined paper  (C) Teflon (D) Transformer oil
4) The electric flux through any close surface is depending on
(A) ffggze"f“lose (B) Medium () fl‘lffazz close (D) Location of charge
§) Thermo-couples convert heat energy into
{A) Wind energy (B) Potential energy (C) Nuclear energy (D) Electrical energy

6) The value of permitivity of free space is
(A) 4z x107WbA'm™ (B) £x107"WbAd'm™ (C) 2z2x107"WbAd'm™ (D) 2mr=x 107" Whd 'm"'
7) The magnetic field inside the current carrying long solenoid is

(A) Strong (B) Weak (C) Zero (,%BQ Uniform
’(E‘\HJ"J:)
X

(A) Maximum (B) Zero (C) Minimum @ } 3V

9) Lenz’s law is called as the law of conservation of O?\ ©
AN

(A) Charge (B) Parity (C) Mm (D) Energy
10) Direct current cannot pass through &R\L

(A) Inductor . (B) Resistor ’%D((f% Chock (D) Capacitor
11) The expression for inductive reactance iS¢ S )

(A) wl B) 228 (N (©) = (D) TL

AN wL

12) The critical temperature of p\ﬁéﬁf is .

(A) 1.18K (BY47 K ©3.712K (D) 72K
13) Actual movement across the diode Junction is due to

(A) Holes (B) lons (C) Protons (D) Electrons
14) At the junction of diode, where no charge carrier is present is called

(A) Active region (B) Depletion region ~ (C) Saturated region (D) Forbidden region
15) Which one explain particle nature of light

(A) Interference (B) Diffraction (C) Polarization (D) Photoelectric effect
16) Who gave the idea of matter waves

(A) Einslein (B) Huygen (C) De-Broglie (D) Newton

17) Electron cannot be resided in the nucleus, it can be proved by
(A) Photoelectric effect (B) Pair production (C) Uncertainty principle (D) De-Broglie Hypothesis

1223 1223~ 12000 (3)
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( Inter Part —I1) (Session 2018-20 to 2020-22) Sig. of Student
Physics (Objective) (Group I1 ) S0 4; Paper (I)
Time Allowed:- 20 minutes PAPER CODE 4478 Maxlmum Marks:- 17

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle ifi front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1
1) Production of X-rays is the reverse process of
(A) Photoelectric effect (B) Compton effect (C) Inhalation (D) Pair Production
2) The Binding energy for Helium is given by
(A) 30.2 MeV (B) 2.25 MeV (C) 2.28 MeV (D) 28.2 MeV
3) After two half-lives the number of decayed nuclei of an element are
(A) N/4 (B) N/2 (C) 3N/4 (D) N
4) Photo copier and injek printer are the application of :
(A) Magnetism (B) Electricity (C) Electro magnetism (D) Electro static
5) SI unit of electric flux is: _
(A) Nm?c” (B) Nmc! (CO)Nm'c! £\ (D) Nm’c?
6) When the internal resistance of source is equal to the load ma:ccﬂ'nmn ‘power dissipated is
A C
) B/ ® £/, “f:;*.c ® £/
7) Unit of magnetic flux density is
(A) wb m? B)NA m' (é) Testh (D) All of above
8) When a charge is projected perpendlcular tgfpmf‘) orm magnetic field its path is:
(A) Spiral (B) Circular <o)~ {Qfﬁehx (D) Ellipse
9) If the angular frequency of A.C Genct:am‘r\mcreasqd to double, the time period would become
(A) Half (B){unjale (C) 4 Times (D) — Tlmes

10) “Eddy current” are set up&\lj\a direction: _ 52?
(A) parallel to flux (B) anti parallel to (C) at 45° to flux
11) When effective value of current is 10. What is its peak value?

(D) perpendlcula.r to the

(A) 10 (B) 14.2 ©) 12 (D) 13
12) Which are the Substance called which undergo plastic deformation until they break.
(A) Brittle (B) Ductile (C) Amorphous (D) Polymeric
13) Choke consumes extremly small.
(A) Current (B) Charge (C) Power (D) Potential
14) The size of base in a transistor is
(A) 10°m (B) 10®*m (€©)10"m (D) 10m
15) is the building block of every complex electronic circuit.
(A) Resistor (B) Capacitor (C) Amplifier (D) Diode
16) The unit of work function is
(A) volt (B) joule (C) watt (D) Farad
17) Compton’s Shift will be maximum at the angle of
(A) 90° (B) 360° (C) 180° (D) 60°

o 1217 1222 - 19000 (4)
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( Inter Part —1II) (Session 2018-20 to 2020-22) Sig. of Student  ————-ememeemmeme
Physics (Objective) (Group I) G-Gl-‘.l. b Paper (II)
Time Allowed:- 20 minutes PAPER CODE 4471 Maximum Marks:- 17

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1

1) A rubber ball of radius 2 cm has a charge of 5 pc on its surface, which is uniformly distributed. The
- value of E at its Centre is

(A) 10NC™ (B) Zero (C) 2.5NC” (D) 5x10° NC”!
2) The minimum value of charge on free particle is
&) % e ®) Y e © e D) e
3) During danger the ‘eel’ turn itself into a living battery. Then the potential difference between its
head and tail can be upto
(A) 600V (B) 440 V (C)220V (D) 160V
4) The sum of electric and magnetic force is called
(A) Maxwell force (B) Newton’s force (C) Lorentz force (D) Centripetal force
5) Output waveform of sweep or time base generator is
(A) Saw tooth wave  (B) Digital wave (©) Sinusoida{'}i(@‘q (D) Square wave
6) Emf is induced due to change in Q)N <
(A) Electric flux (B) Magnetic flux (C),Elegtric potential (D) Electric current
7) When the motor is just started, its back emf is ?ﬁ\\?\}\
(A) Maximum (B) Minimum v, ((C)-Almost zero (D) Equal to current
8) An A.C Voltmeter reads 220V, its peak va.lug\wmﬁe
(A) 255V (B) 31112 V.75 4€) 300V (D) 200 V
9) When we acclerate the chargef?ﬂﬁ,\éh\ pe of waves are produced?
(A) Mechanical waves (B) Tr e, ing waves .. {(C) Stationary waves (D) Electromagnetic
RO o waves
10) A device used to detect veﬁfiafé’ak magnetic fields produced by brain is named as
(A) MRI <{B) CAT Scans (C) SQUIDS (D) CR.O
11) The magnitude of voltage gain of an amplifier having ri;=1 ohm, B =100 and R;=200 ohm is
(A) 2000 (B) 1000 (C) 500 D) 5
12) Which one is used as temperature sensor in electrical circuit?
(A) Capacitor (B) diode (C) LDR (D) Thermistor
13) The rest mass of photon is
(A) infinite (B) zero (C)1.6x 10" kg (D) 3 x10°kg

14) The materialization of energy takes place in the process of
(A) photoelectric effect (B) Compton effect (C) Pair Production (D) Annihilation of

matter
15) The unit of Rydberg’s constant Ry is

(A) ms” (B) m (C) m” (D) m™
16) The unit of decay constant is

(A) Second (B) (Second) ! (C) m™ (D) mK
17) Half life of radioactive isotope of Iodine-131 is

(A) 6 days (B) 8 days (C) 10 days (D) 12days

Jon s o 1215 - 1222-- 23000 (1)
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- (Inter Part — Iy) (Session 2017-19 (0 2019-21) Sigof Studen "
ysies  (Objective) (Group II) ST aper
.1me Allowed:- 20 minutes i PAPER CODE 4478 540-3-2.) Maximum Marks:- 17

Note:- . think is correct; fill
You have four choices for each objective type question us A, B, C and D. The choice which b e cicis will

st chile § ; . Cutting or filling two
circle in front of that question number. Use mark or pen (o flll the clrcles. C u':unr - the both sides of the

result in zero mark in that ER CODE, which Is printed on this on paper, on
Answer Sheet and (ill buhh:tl:.“:-:l,:g;d‘:::}; ?h:rwl}n the student wil] E:nupmulhh ‘kln the situation. Use of llnl: Remover Or
Q.

white correcting fluid is not allowed.

1) In the Bohr's model of hydrogen atom, the lowest orbit corresponds to
(A) Infinite energy (B) Zero energy (C) Minimum energy (D) Maximum energy

2) Which of the following conservation law hold in nuclear transmutation.

{(A) Mass (B) Energy (C) Momentum (D) All of these
3) The building blocks of protons and neutrons are

(A) lons (B) Electrons (C) Positrons (D) Quarks
4) The energy density in a capacitor is directly proportional to

(A) &8, (B) B2 ©) ¢ (D) V?

5) The negative sign in the expression of potential gradiant E =-% shows that, direction of E is along.

(A) Increasing potential (B) Decreasing pofential (C) Increasing strength (D) Negative potential
6) Colour code of 10 Q resistance with 5% tolerance is

(A) Black, black, (B) Brown, black; (C) Black, brown, (D) Brown, brown,
Brown, Silver black, Gold black, Gold black, Gold
7) The brightness of spot on C.R.O screen is controlled by \[,
(A) Anodes (B) Cathodes (C)Grid (o)~ (D) Plates
8) Magnetic flux density at a point due to current canymg/ cmehsd&crmmcd by
(A) Ampere’s Law (B) Gauss’s Law (C) Faraday’s Law (D) Lenz’s Law
9) The direction of induced current js always so asta opposc the change which causes the current is
(A) Faraday’s Law  (B) Lenz’s Law (7, (C) Ohm’s Law (D) Kirchhoff's Ist rule
10) When current flowing through an indgc{qﬁﬁﬁbilbled, then energy stored in it becomes.
(A) Half (B) Four times ,  (C) One fourth (D) Double
11) In RLC series circuit, the current. :@f.?rééonénce frequency is
(A) Minimum (B). Maximum s, (C) Zero (D) Infinite
12) When 10 V are applied to an A.C circuit, the current flowing in it is 100 mA, its impedance is
(A) 50 Q2 (B) 75 2 g (C) 100 Q (D) 90 Q

13)If stress is increased beyond the elastic limit of a material, it becomes permanently changed, this
behaviour of material is called.

(A) Elasticity (B) Plasticity (C) Yield strength (D) Ultimate tensile
strength
14) The potential barrier of silicon at room temperature is
(A) 03V (B)0.7V (C)3.0V (D) 70V
15) The voltage gain of an amplifier having r, =1Q, =100, R, =20Q is
(A) 2000 (B) 1000 (C) 500 (D) 5
16) When a photon collide with an electron, which of following of photon increases.
(A) Frequency (B) Energy (C) Waps Bength (Q) Mass
17) Which of the following explain particle nsture of light?
(A) Interference (B) Diffraction (C) Photoelectric effeet @), Polarization

1277 - 1221 ALP -- 15000 (4)
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Physics (Objective) (Groupl) Paper (11)

Time Allowed:- 20 minutes PAPER CODE 4475 Maximum Marks:- 17

Note:- You have four choices for each ohjective type question as A, B, C and D, The choice which you think is carrect; fill
that circle in front of that question number Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1
1) Types of quarks are
(A) 2 (B) 4 (C)é (D) 8
2) [n liquid metal fast breeder reactor the type of uranium used is
(A) B3y (B) 3 (©) 24y (D) %y
3) The force between two charges is 28 N. The paraffin wax of relative permitivity 2.8 is introduced

between the charges as medium then force reduces to
(A) 25N (B) 20N (C) 10N (D) 15N

4) A charge of 107"°C between two parallel plates |1 cm apart experience a force of 107N,
The p.d. between the plates is
(A) 10V (B) 10* V (C) 10° v (D) 10'v
5) Tolerance for silver colour is
(A) +10% (B) £15% (C) £20% (D) £5%
6) Two parallel wires carrying currents in opposite direction.
{A) Repel each other  (B) Attract each other (C) Neither attract nor (D) Stick to each other
repel
7) A 5m wire carrying current 2 A at right angle to uaiform magnetic field of 0.5 T. The force on the wirc is
(A) 1.5N (B)5SN (C)25N (M 4aN
8) If the coil is wound on iron core, the flux through it '€ g\
(A) Decreases (B) Becomes zero (C) Remains -f_)(D) Increases
9) Energy stored per unit volume in magnetic ficld is called
(A) Energy density (B) Electric flux (C) W%\(} (D) Power
10) S.1 unit of reactance is ) _
(A) Farad (B) Volt @ e (D) Obm
11) The device which allows only the flow of DG/l
(A) Capacitor (B) Resistor \/ (C) Inductor (D) Generator
12) A vacant or partially filled band is
(A) Fermi Band (B) Valence B (C) Fofbidden Band (D) Conduction Band
13) For normal operation of transistor), the Emitter-Base junction is always
(A) Forward Biased By -Reverse Biased  (C) Unbiased (D) Grounded

14) The S.I unit of currenty

(A) Volt ~(B)” Ampére (C) Cotlomb (D) No unit

15) The factor A in ompton effect has the dimensions of B\
m,c o W

(]

(A) Pressure (B) Length (€) Mass (D) Momentum

16) The matcrialization of energy takes place in thg process of

(A) Photoelectric effect (B) Compton effect (C) Pair production (D) Annihilation of

matter

17) Joule-Second is the unit of

(A) Energy (B) Heat (C) Plank’s constant (D) Power

1275- 1219 = 16000 (3)
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Note:- You have four choices for cach objective type question as A, B, C and D). The choice which you think is correct; fill
that circle in front of that question number- Use marker-orpen-to fill-the tircles. Crnting or*filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1

1) If the distance between two charges is halved, the force between them becomes

(A) Double (B) Half (C) Four times (D) One time
2) When some dielectric is inserted between the plates of a capacitor then capacitance.

(A) Increased (B) Decreased (C) Zero (D) Infinity
3) Kirchhoff’s First Rule is a manifestation of Law of conservation of

(A) Mass (B) Energy (C) Charge (D) Momentum
4) Work donc on a charge particle moving in a uniform magnetic fieid is

(A) Maximum (B) Zero (C) Minimum (D) Negative
5) Output wave form of sweep or time base generator is

(A) Saw tooth wave (B) Digital wave (C) Sinusoidal wave (D) Square wave
6) Energy stored in inductor is

! | 2 1 242 l , .2
(A) 2}'.! (B)ZLI (C}zL[ (D) ZLI

7) Which one is not present in A.C generator.
(A) Armature (B) Magnet (C) Slip rings (D) Commutator
8) At high frequency the value of reactance of capacitor is

(A) Small (B) Zero (C) Large Infinite
9) In three phase A.C gencrator the phase difference between each pair iPis~

(A) 45° (B) 60 (©) 90° o (D) 120°
10) The substance in which atoms cooperate with each other in @ ay, so as to exhibit a strong
magnetic field is called ' E

(A) Paramagnetic (B) Diamagnetic f’.}}\@ magnetic (D) Non magnetic
11) A sensor of light is N 5

3 , w Light dependent

(A) Transistor (B) LED S ) Diode (D) redidiance
12) Find the gain of inverting amplificr o t;; resistance R, =10XQ and R, =100£Q

(A) -5 (B) -10 £ (@) -2 (D) 50
13) The value of Stefen’s cons i

(A) 2.9x10°mK x107mt (©) 6.63x10 i (D) 56710 Wm 2K *
14) The factor _{1:: has the dimension of -t

mﬂ

(A) Length (B) Time (C) Mass (D) Energy
15) Which series lies in the ultra violet region

(A) Balmer series (B) Bracket series (C) Pfund series (D) Lyman series
16) Ahsorbed dose D is defined as

(A) m/E (B) E/'m (C) C/m (D) E/C
17) A proton consists of quarks which are

(A) 2upand 1 down  (B) 1 upand 2 down. -~ (C)Allup (D) All down

1277. 1219 11000 (1)
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Note:- You have four choices for each obijective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1
1) The reverse current through a semi conductor diode is due to
(A) Minority carriers (B) Majority carriers (C) Holes (D) Electrons
2) Amount of energy released due to complete conversion of 1 Kg mass into energy is
(A) 9x10%J (B) 9x10°J (C) 9x10®J (D) 3x10%J
3) The momentum of photon of frequency '/ ' is
(A) he/f (B)hf/c (C) f/hc (D) c/hf
4) An A.C. voltmeter reads 220 V, its peak value will be
(A) 255V (B) 311.12V (C)300V (D) 200V
5) In an electronic transition atom cannot emit
(A) Infrared radiation  (B) Ultra violet (C) ¥ —ray (D) Visible light
radiation
6) The number of neutron present in a nucleus is given by
(A N=A+Z (BN=A-2 (CON=Z-4\ (D)N=AxZ
7) The amount of energy equivalent to | am.u. is L2
(A) 9.315 MeV (B) 93.15 MeV (C) 931,00 MeV (D) 0.931 MeV
8) If electric and gravitational forces on an electron ba}/z@\@ge ch other, then electric intensity will be
o -4 .Gty E=E o B
@) £ g ®) = mg \' ) & q @) E=7z € r
9) A charge of 4 Coulomb is in the field 6f inténsity 4 N/C. The force on the charge is
(A) 8N (B) 16 N\ © 51 (C)4N (D) IN
10) The reciprocal of resistance is ¢alled
(A) Reactance ___.(.ﬁ):;mductance (C) Conductance (D) Conductivity
11) The force on current catrying conductor placed in magnetic field is expressed by
(A) F=IL-B B) F=1LxB C)F=rLxB (D) F=1BxL

12) Two parallel wires carrying currents in opposite direction
(A) Repel each other  (B) Attract eachother  (C) Neither attract nor (D) Stick to each other

repel each other

13) Lenz’s law is in accordance with the law of conservation of

(A) Momentum (B) Angular (C) Charge (D) Energy

Momentum

14) Which of the following converts electrical energy into mechanical energy?

(A) Transformer (B) Motor (C) D.C. generator (D) A.C. generator
15) S.I unit of reactance is

(A) Farad (B) Volt (C) Ampere (D) Ohm

16) If stress is increased beyond the elastic limit of material, it becomes permanently changed, this
behaviour of material is called

(A) Elasticity (B) Plasticity (C) Yield Strength (D) Ultimate tensile

Strength
17) The potential barrier for silicon is
(A) 03V (B)0.7V (©1.0V (D) 0.1V

_ 1267A- 1218 12000 (4)
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SECTION-A _
Q.1 Questions A B c D
| ium-N the di tub
1, 1| SR e e Lases B discharge tube | g4 0, e 85% He | 90% He 95 % He
.. h 5
2. | The quantity —— has dimensions of: Mass Time Length Energy
mc
3. If'the SN Offl photon s E, thiswity rest Infinity Negative Zero Variable
mass is given as:
The mathematical riotatidn for exclusive - — e — e s
4. | OR operation is: X=AB+AB X=A+B X=AB+AB X=A+B
5 The output of an OR gate is ‘0" only when | Both inputs Both inputs | Either input is | Either input is
- its: a-l.e 51, are 60, r.-"'?_‘ ,\ (1'.! tOT
\Aﬂ}\ )
6. The forbidden energy gap of an insulator 56V 1 o)V | 2 eV Seveial &V
is of the order of: r\ C;—/
The ratio of the rms value of the applied O \
7. | voltage to the rms value of resulting A.C Reactan \“ilesonance Impedance Conductance
is: AL J
In three phase A.C. supply, coils are }v’ . . .
& inclined at an angle of: “C \% 20 120 180
\\ A
Maxlmum Zero Steady Pulsating
9. | When the back emf is zero, it dmgg\\ Q) i i e g
.f‘\_‘ l\ \’)
10. | Frequency of A.C. used in is: 100 Hz 50 Hz 60 Hz 120 Hz
' (& Less than Equal to Greater than
11. | The charge to mass ratio of neutron is: L ettvon M dion Tockteni Zero
; _— IR, "l 14 R
12. | High resistance in voltmeter is given by: T 11 T -};‘ -R, I, __VS_
3, | Heat generated by a 40 watt bulb inene | | 4509 14400 J 144000 J 1440 J
hour is:
The negative of the electric potential Electric Electromotive Potential ;
14 gradient is: intensity force difference Electric force
Electric potential energy per unmit electric .
15. potential is called: Intensity Flux Current Charge
16. | Electrons are: Hadrons Leptons Quarks Baryons
17, | The amount of energy equivalent 10| o315 ey | 9315MeV | 93.15MeV | 931.5MeV

la.m.u is:

309-423-1A-14000

% kK




RoliNo.| | | | | |
Physics HSSC (12")1* Annual 2023 Time
Paper:II Group:II ‘ Objective — (iv) Marks
S~/ Y —2~23 |PaperCode |8 | 4 |7 |8

Note: - You have four choices for each objective type question as A, B, C an
fill that circle in front of that question number in your answer book. Us

filling up two or more circles will result no mark.

ﬁ Eﬂ%ﬂgtﬁh th .

! L To be filled in by the candidate)

: 20 Minutes

) SECTION-A
Q.1 Questions A B Cc D
Normally an electron can reside in 4 g
- metastable state for about: \0"s 107 107s 107
2. In ann.xhﬂaftmn_emmﬂd phutun% move in i Bnergy SR Charpe
opposite directions to conserve:
3. | Numerical value of —~ 243x10%m | 2.43x10%m | 243x107m | 243x10"m
i A two inputs NAND gate withinpws A | . B zeic BothAand B | Both A and B
and B has an output zero-f: are 7ero are one
s, The rf:latiun for gai_n of an inverting c=-R c-% G- G=_R
operational amplifier is: R, R, R, R,
6. | Young’s modulus for Lead is: 15x10° Nm™ T.?xlﬂ“Ng_”{iujiﬁxlﬂgNm 2| 22x10°Nm™? |
(O~ 1
In three phase A.C. supply, the voltage X o -
7. | across each of the lines and the neutral 20V 4 {_;}“ %Q v 400V 440V
line is: AN
v \ !--;:f} i
8. | The types of modulation are: AN 5:’ 3 4 5
- r’f?.:’}:/'
N
9, | In case of step up transformer: @\‘?“ \|[& V' Ne<Np Ns>Ng Ns=Np N,=0
o, | Formula _for self-mductam;éiﬁf’ thel 5 _ L | LN peigtat | s
solenoid is: g\_’w
' ;
11. | An ammeter is connected in a circuit in: | Perpendicular ; Series Antiparallel Parallel
The number of electrons in CRO is . X-Deflecting | Y-Deflecting :
12 controlled by: Grid plates plates Filament
13. | If there is no fourth band, tolerance is: Zero +5% +10% +20%
1 .
14, | The statement @, = E—x Q was given by : Faraday Oersted Gauss Coulomb
(-]
Shape of
15. | Electric flux does not depend upon: “closed Charge Charge aud Medium
medium
surface ]
16. P:En Lf?:’““" of energy equivalent 10| 3,500y | 9375MeV | 931.5MeV | 9315MeV
17, The mass of a neutron is almost equal to Blestion Proton Photon Phicion
mass of’

310-423-1A-11000  xk k%
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Q.1 Questions A B C D
1 For an inductor connected to an A.C. leads the is in phase . - changes
" | source, the applied voltage: current with current g independently
The power dissipated in A.C. circuit is
2. |given by P=I  xV,  cosf,in this| phase factor gain factor loss factor power factor
relation cos# is called:
3. | The curie temperature for iron is about: 100°C 750°C 900°C 1150°C
The reverse current through a . i N .
4, semiconductor diode is due to flow of: holes electrons majority carriers [minority carriers
5. A hgl‘.ﬂ .enuttmg diode emits: lg only OFF reverse biased | forward biased unbiased
when it is: AN
6. | Momentum of photon is given by: i kQ;— _ .4 L
c A\ O c A
Compton shift equals the Compton KapY)
7. | wavelength, if the scattered X-ray {_SICE“." Cf;l'v' 90" 60° 45°
photons are observed at: N\
» B l,f W W
‘_’C}rh:ta.l angular momentum ofan eh?ctmn X O ok 2 o
8. |in the allowed stationary orbit of NY B — — —
hydrogen atom is given by: Pt il nh wh
9. | The unit of decay constant isut._g'ﬁ,::[f‘-“ m S m” S
Q\'-._T\-—’ 7 (N
10. | Total number of quarks is: 3 4 5 6
Self inductance of a solenoid having
1. I:z:n"gth I" number oftum§ pe:'r unit leygth Ll Al Al A
"n" and area of cross-section" A" is given
by:
12. | One henry is equal to: Vs d™! Vs'A Vs A Vsd™
When a charged particle is projected at
right angle to the magnetic field, the B i A i
13. magnitude of the magnetic force on infinite maximum zero negligible
charged particle is:
14. ;I;.le value of permeability of free space | , 167 pp 1t | 4x10" B | 4mx107 Wo A m | drex10? WO A
15. | SI unit of conductivity is: mho m™ Siemen Qm QK
16. | A capacitor is a device that can: generate charge| store charge |neutralize charge| burn charge
17 Electric flux thmugh. a surface enclosing charge only | mediuim only shape of closed | medium and
a charge depends on: f; surface charge enclosed




